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306facsum:[[2], [3]’ [3], [17]] - [5] 5 g%No(l) = [E— 1, H—2]

3 |~ U7 By = [E=2,H=2]

20 sum=[(22, 122, 212, (212, (212, 212, 512

322 equm= 1121, (71, 237 = (21 By = [E=1, H=5]

323 esum= 117y, (1977 = L6173 Ry = [E=1, H=2]

324 sum=(12). (21, 131 13 13 137) = (41 By = [E= 1, H=2]
324 sum=(12). (21, 131 13 131 137) = (215 By = [E= 1, H=4]
334 csum =21, sy = L1371 By = [E= 1, H=2]
392 qum=(121, 131, 31, o) = (37 By = [E=1, H=3]
39 csum=(121, 121, (21, a37) = 171+ By = [E= 1, H=2]

_ 2 _ _ o
348 e sum=112]. 121, 13], [207) ~ LOTs F By = [E= 1, H=2]



= 2 @ o _
351faczsum=[[3]2,[3]2,[3]2,[13]2] [147, FFy, ) = [E=2, H=2]

_ 2 B _ .
354 uesum=112), 131, [597] ~ [81s Ry = [E=1, H=2]
_ 3 B _ .
354facsum:[[2], [3], [59]] - [4] 5 7%?%]\/0(2) - [E_ 1, H—3]
_ 6 B _ .
358 ucsum=112). 131, (597 ~ (21 AR Fyoz) = [E=1, H=6]
7

357facsum:[[3],[7] [17]]=[3] =[E=1,H=3]

363facsum=[[3] [11], [5] "%%No(l)z[Ezl,H=2]
2
387 csum=13), 131, (437 ~ L7175 Ry = [E= 1, H=2]

NN(393 =Level(7)NO(1) )

G(393Fac (3, 131) SUM= 134=LVQ )

[
G( 134Fac(2, 67) SUM= 69 :LV{_ )

G(69Fac3 23) sum=26 ~ LV (5 )

—

—
‘—lv

[
G (26542, 13) sum=15 =LV () )

—

T

G(ISFaCS 5) SUM= 8

G 8Fa0222 SUM=6—

")
=y

G(6Fac(23SUM 5 =L ﬁj
7]

StopPrime(5)

= 2 @ —[F=— _
407 3 gum= (11113, 3]~ (22815 R Ror) = [£=3, H=2]

_ 5
M8 sum=1121, 111, 11977 ~ [2 15 ARy =[E=1, H=5]

_ 3 _ . _
423 pcsum=(51, 151, (1771~ 3T E%No(l) =[E=1,H=3]

429 e sum =131, (117, [13]] — [37, Ry =[E=1, H=3]
42 um= 1121, 131, 17)) ~ (2T By = [E= 1 H=5]
46 qum=1[2], [2237] (157, ARy =E=1,H=2]
455 equm= (151, 71, (1317 = (5T By = [E=1, H=2]
455 o =31, By, = [E=2,H=5]

P ~
460 11 cum— 1121 120, 151, [237] = L2 1> R Ryyr) = [E=1, H=5]
_ 5 _ o _
82 sum= 1121, 21y = 31 R0y = [E= 1L H=5]
—71? &#H r— _
486fa62sum: [[2]2, [3]2, [3]2’ [3]2, [3]2’ [3]2] (771, %%No(l) [E=2,H=2]



_ 2 B _ .
500ucsum— (21, (11, 1237 ~ 015 Ry = [E=1, H=2]

5104 cqum =21, 31, 51, 1177] = (37> By = [E=1, H=3]
12 2 m= (22 (212 (202 (212, (212, (212 212 (202 (212] (6T, Ry, ) = [E=2,H=2]
S =112 2 124 (24 (20 (2 2 ot 2] L2 r s ARy = [E=4, H=2]
512fac6sum:[[2]6, 1216, [216, (216, (216, [216, [216. [216. [216] 4y EH%N [E=6,H=2]
Slzfacgsm:[[z]& 218, 1218, 1218 1218, 1208, 1218, 1208, [218] (487, 5—7’5'%]\,0(4) =[E=8,H=2]
21210 um=[[2110, 12710, (2110, 12110, 12710, (2110, (2710, (2110, 1210] 96T, R ey 5) = [£= 10,
H=2]

NN (538 = Level(1) y, 100))

G(S38Fac(2, 269) SUM=271 _LVﬂ )
[1]
StopPrime(271)

_ 2 _ _ _
539 uesum=1r7, 171, 171 = 315 ARy = [E= 1, H=2]

540 = [30F, ey, = [E=4, H=2]

fac* sum= [[2]4, [2]4, [3]4, [3]4a [3]4’ [5]4]

a7 .
544 csum=1121, 121, 121, 121, 121, 1771~ 3T FFRyony = [E=1, H=3]

NN (544 =Level(4) v, 100))
G(544Fac(2, 2,2,2,2,17) SUM=27 ﬂ)
G(27Fac(3, 3,3) SUM=9=LVﬁ)
G(9Fa0(3, 3y sum=6—LV (2

G(6Fac(2, 3) SUM=5 :LV& )

StopPrime(5)

546

facsum=

— 2 . B _

NN (548 =Level(4) y,101))

G(548Fac(2, 2, 137) SUM= 141 =LVQ j
[4]
G( 141 poe(3, 47y sum=50 = )

_}
[4]

G(SOFac(Z, 5,5) SUM= 12 _}
[4]



588
588

588

552 puesum=1(2), [21. [2], (3], [23]] —

G( 125002, 2,3) SUM=7=LVﬂ j
[4]

StopPrime(7)

NN(549=L6V€I(1)N0(101))
G(549Fac(3 3,61) SUM= 67_LVQ)

—
—

StopPrime(67)

ST8 e sum=1([21, [17], [17]] —

ST fue sum=[[31. [1931]

_ 2 _ o
583facsum:[[11], [53]] - [8] 5 '/EF?%NO(I) - [E_ 1,

_ 3 _ o
583 ucsum= 1), (537 = (415 FRyo) = [E=1,

6
583 [[11],[53]]=[2],5—%'%N0 3)=[E=1’

fac sum=
fac3sum:[[2]3, [2]3, [3]3, [7]37 [7]3] -
facssum: [[2]3, [2]3, [3]3, [7]3= [7]3]
fac3sum= [[2]3, [2]3, [3]39 [7]3, [7]3]

NN (602 = Level(2) y, 100))
G(602Fac2 7.43) sum=52 LV (5 )
G(SzFac(Z, 2, 13)SUM17:LV&)

StopPrime(17)

Il
—
(8]

605facsum= [[5], [11], [11]]
612

“facsum =

615 faesum=1131. 151, [41]]

—
—
[\
—
—
[\
—_—
—
W
—
:—|
L_l
—
—_
-
—
-

|—|

NN (618 = Level(2) y, 101

G(618Fac2 3, 103) SUM = 108_LVﬂj
]

G(logFac(Z, 2,3,3,3) SUM=13 ZLVQ )
[

—

—

StopPrime(13)

37,
:[7]2 ,‘%’% (I)Z[E: >

H=2]
H=3]
H=6]

y=[E=3,H=2]
—[E=3,H=3]

=[E=3,H=6]

I, By, ) = [E=1,H=3]

_ 5 _ _ _
021 e um=113). 131, 13], [237) ~ L2 1> F By = [E= 1, H=5]



2 = = —
fac2sum (1512 1512 512 1512] (10T, A Ay, ) = [E=2, H=

625
625
625

- 2 o
fad® sum=[[513, 518, [518, [518] [12501, &Ry, = [E=8,H
625

w f— =
a0 sum = (5110, [5]10, (5110, [5]10] =[6250T, R y5) = [E=10. H

637 facsum =171, 171, [131] ~ 137, Ry, = E=1,H=3]
3 O 1647 161653 .[6]. 659 1~ LKK([6])=No(10)]
[ g " Ps]

_ 2 _ _ o
050 ucsum (21, (51, (5], [137) = (315 A Bypr) = [E=1, H=2]

NN(650 Level(3 )NO 100) )

G(650Fac2 5,5,13) sum=25 ~ LV (3 )
G(ZsFac(S, sy sum=10~ LV )
G(IOFaCZ sysum=7-LV (1 )

StopPrime(7)

_ 2 _ _
056 ucsum=112, 121, 121, (23, 14111 = L7 Ry = [E=1, H=2]

NN(671 =Level(3 ) No(

G(671Fac(11, 61) SUM=72 :LVﬂ )
G(72Fac(2, 2,2,3,3) SUM=12 :LVﬁ j
[3]

G( 12Fac(2, 2,3) SUM=1 =LV

— |
W [ =
[y
N—

StopPrime(7)

- 3 m o _
6 fac3sum [ 3 [3]3 [ ]3’ [11]3] [12] s 7/‘\‘%}\[0(1) [E 3,H 3]

— 2 _ _ _
695 e sum= (151, [1307] = L1215 ARy, ) = [E=1, H=2]

_ 2 _ _ _
T8 sum— (123, 3507 ~ L1915 Ry = [E=1, H=2]

_ 3 _ _ o
T20pucsum=112), 131, 1117, (1) ~ 31 F o) = [E= 1, H=3]

=514 1514 1514 51~ 001> A Fwoy T LE=4 H

= 2 @ = _
facﬁsum:[[S]q [5]6’ [5]6’ [5]6] [250] 5 W‘\‘%N 3 [E 6, H

2]

2]

=2]

2]



3°F 7 (61,733 (6], 730 1~ LKK([6]) =No(11)]
P P P
I 2 3

a2 o
738 sesum=121, 131, (3], [417) = L7 F oy = [E=1, H=2]

0P B = [E=1 H=
748facsum:[[2], [2], [11], [17]] — (2], /EI“? No(1) — [E=1,H=5]

NN (754 = Level(5) 100, )
G(754Fac(2, 13,29) sum-44 =LV 5y j

G(44Fac(2, 2, 11)SUM15=LVﬂj
]

G(ISFac(S, 5) SUM:SZLV{3} )
G(gFac(Z, 2,2 sum=6 LV (5 )

G(6Fac(2, 3) SUM=5 =LVﬁ j

StopPrime(5)

NN (755 = Level(5) y, 101, )

G(755Fac(5, 151) SUM= 156 ZLVQ )
(5]

G( 156Fac(2, 2,3,13) SUM=20 =LVﬂ )

[5]

G(ZOFac(Z, 2, 5) SUM=9 :LVﬁ )
[5]

G(gFac(3, 3)sum=6—LV (2

G(6Fac(2, 3) SUM=5 =LVﬁ j

StopPrime(5)

TT0%esum= 1121, 151, (7). (1177 ~ 19

— 2 _ . _
780cqum=1121, 121, 131, 151, 11311 = L5T5 Aoy T [E=1, H=2]
— 2 _ . _
799 tucsum= 1177, (4777 = 815 A Rnpy = [E=1, H=2]

_ 3 _ . _
79 ucsum= (17, (477) = (415 A Ryop) = [E=1, H=3]

_ 6 _ . _
799 tuesum=((17), (477 = 1215 R Fyy3 = [E=1, H=6]

_ 2 _ _ _
832 cum= 1121, 12, 121, 121, 121, 128, 11317 ~ L5 Ts Ry = [E=1, H=2]

_ 2 _ _ .
834, cum=1121, 131, [1307] = L1215 Ay, = [E=1, H=2]



=[117, B&y, = [E=3,H=2]

sofaczsum= [[2]2, [5]2, [5]2, [17]2]

864fac3 sum=[[213, 1213, [213, 213, [213, 1313, [313, [31°]

_ 2 _ _ _
878 csum=112), [430] ~ 2115 Ry = [E= 1, H=2]

900 4= (38T, By, = [E=4, H=2]

fadtsum=[121% 1214, [31% [31% [51% [5]
_ 3 _ _ _
N0csum=q121, 151, (71, 11317 = (315 Ry = [E=1, H=3]

936 ucsum— (2. 121, 12). (3. (31 [13]] ~ LT F Ry =[E=1, H=2]

924facsum= [[2],[2], [3], [7], [11

307 941, [6],947 6], 953 = [KK([6]) =No(12)]

1 2

LY

943 esum—( (23], (41 = 81 A Hy, ) = [E=1, H=2]
_ 3 _ . _
943 fesum= (23], [417] = 1415 ARy =[E=1, H=3]
6
943 fesum= (23], (417 = 1215 AR5 = [E=1, H=6]

3 OF2H oy 161977 (61,983 1~ LKK([6]) =No(12),2 Ren]
P P P
1 2 3

955 frcsu= 151, (19171 = 14T+ By = [E=1, H=2]

956 e sum =121, [2], [239]] =37, Ry, = E=1,H=5]

959facsum=[[] 137]] =[127, %%N =[E=1,H=2]

T facsum=11111, [ =107, Ay, ) = E=1,H=2]

[[21,[2],[131,[19]]:[6]2’ ARy = [E=1, H=2]

NN = {1000} ., DONE

1053 cgum= (31, {31, (3. (3 [137] = (51> By = [E=1, H=2]
1055 e gum =151, [2117] =167, —%%N =[E=1,H=3]

1064, gum=1121, 121, 121, [7] =27, —F‘%N =[E=1,H=5]

1078 1 sum [[2],[7],[7],[11]]:[3]3 ARy, = [E=1,H=3]

_ 2 =
1078fa63S”m (2 []3’[11]3] % =[E=3,H=2]

988

facsum=

1080fac2mm [[212 1212 [21% [312 [31% [312 [5]

logofaczvum [[212 1212 [21% [312 1312 [3]2 [5)2]

—121° & T F— _
1080 2 qum =122 (22, 122, 1372, 372 (312, 1572) (21, KRRy () = [E=2, H=6]

2~ (87, %%No(l) =[E=2,H=2]

= (47, BBy, = [E=2, H=3]



P P P

1 2 3
1092 sum=1121, 121, 131, [7] =37, eSS =1,H=3]
1095facsum [[31.[5], [731] [9] ) %%No(l) = [E: 1, H=2]

_ 4 . _ .
1095facsum (131, [5]. [73]1] — (371, 7%7%]\[0(2) =[E=1 H=4]

3 OF2# 117 112 16, 1129 1= [KK([61) =No(14),2 Ren]
P P P
1 2 3

_ 2 _ _ _
1100 gum— 121, 121, 151, 151, 11117 = L5Ts Ry = [E=1, H=2]
_ 2 _ _ _
T46 /e qum=112), 131, [1917) = 14T F Ry ) = [E=1, H=2]

NN(1158 Level(2 )NOZOO))
G(llSSFaC

(2]
G(198Fac2 3,3 11)SUM=19:LVL)

(2, 3,193) SUM=198 :LV{Z} )

—
(il NG,

StopPrime(19)

NN(1159 Level(2 )NOZOI))

G(1159Fac(19,61)SUMSO_LVﬂ)
]
G(SOFac(z, 2,2,2 5)SUM=13:LVQJ

[

—

—

StopPrime(13)
_ 2 _ _ _
1168 1, cum= 1121, 120, [20. 121, (7371 = L9 15 R Ryr) = [E=1, H=2]
H68, cum=112), 121, [21. [2] =31, EeESW =1, H=4]
117Ofac2sum (1212 1312 312 1512 [1312] (67" ’"f“%NO(I) =[E=2,H=3]
1191

2
facsum=[[3], [397]] = [20] D /"‘gg%%]\/o(l) = [E= 1, H=2]
_ 5 . . .
197 esum=1131, 131, 171, 11971 = L2175 Ry = [E=1, H=5]

NN (1218 = Level(1) 500 )
G(1218Fac(2, 3.7,29) sum=a1 ~ LV (13 j

[1]
StopPrime(41)



NN (1224 = Level(1) y, 301, )
G( 1224Fac(2, 2,2,3,3,17) SUM=29 =LV{I} )

[1]
StopPrime(29)

_ 2 _ . .
1255 1 cum =151, (25177 = L1617 B Ry, ) =[E=1, H=2]

_ 4 _ o _
8
1255facsum=[[5], [251]] (271, 7?;‘::’%1\/0(3) =[E=1,H=8]

NN( 1257 = Level(8 )No(l))
G( 1257Fac(3, 419) SUM =422 :LV{8} )

8
G(422Fac(2, 211) SUM=213 :LVL )

[8]
G(213Fac(3, 71)SUM=74=LVﬂj
G(74Fac(2, 37) SUM=39 :LVﬂ )
G(39Fac(3, 13)SUM=16:LVﬂ)

G( 164402, 2,2, 2) sum=3 =LVﬂ j

G(SFac(Z, 2,2) SUM=6 :LVﬂ )

—
[}

—

G(6Fac(2, 3) SUM=5 :LVﬂ j

StopPrime(5)

1260fac2sum: (1212 1212 [312 [312 [512 [7)2]
e i1

1266 2. (31, 211y = LO1s Ry = [E=1, H=3]

e sum =
1288, sum= (21, (21, 21, (7). [237] — (61> By = [E=1, H=2]
1295 = (151, (71, 1377y = [71 By = [E= 1, H=2]
1300 scsum=1 21, 2, 151, (51, (131) = 13T F Ry = [E=1, H=3]
1304, qum= 1121, 21 121, 163y = 13T By = [E= 1, H=2]
130 =121, (31, 131, 737 = (91 By = [E=1, H=2]

_ 4 _ _ o
B qum=1121, 131, 131, 17311 = B3] F o) = [E= 1, H=4]

NN (1314 = Level(3) y, 200, )

G( 1314Fac(2, 3,3, 73) SUM=81 :LVﬂ )
(3]



G(81Fac(3, 3,3,3) SUM=12 ZLVQ )
[3]

G( 125002, 2,3 sum=7=LV (1

—

W
[l
N—

StopPrime(7)
1320

NN (1320 =Level(3) y, 501, )
G(1320Fac2,2,2,3,5,ll)SUM 25 LV{3}

3]
G(stac(S, 5) SUM =10 =LV& j
(3]

G(loFac(Z, 5) SUM7:LVﬂ)
[3]
StopPrime(7)

1323fac2sum (1312 312 1312 (2 1712]

NN(1328 Level(5), 200))
G( 1328 02,2, 2, 2.83) sum=91 =LV (57 )

[
G(91Fac (7, 13) SUM=20 :LVﬂ )

G(zoFac(2, 2 sy sum=9 LV (3

G(9Fac(3, 3) SUM=6 :LV{z}

G(6Fac(2, 3) SUM=5

StopPrime(5)

NN (1330 = Level(5) y, 01, )
G(1330Fac(2 5,7, 19) SUM= 33:LV{ )

(5]
G(33Fac311)SUM 1a=L {_)
5

G( 14Fac(2, 7) SUM=9 _LVQ )
[

G(9Fac(3, 3) SUM:6:LVﬁ )
[5]

G(6Fac(2, 3) SUM=5 :LVﬂ j

[5]

[ Ny}

_ 2 _ _ _
facsum=1121, 121, 121, (3, 151, (117] ~ L5315 FRyoy = [E= 1, H=



StopPrime(5)
—191? & i _

= E — — _
1350fac2mm [1212 1312 1312 1312 [512 [512] [3], ﬁ%No(Z) [E=2,H=4]

1352 e sum=1121, 120, 122, 1131, 137 — [2]

1370facsum [[2], [5], [137]] —

_ 2 _ _ .
B372cum= 1121, 121, 17, 171, 171 = (31 FRyoy = [E= 1, H=2]

1375fac2sum (1512 1512 1512 [1172] N [14] ’ ”Q%NO(I) =[E=2,H=2]

— 151 & —[F= _
1408 [[2], [2], [2], (2], [2], [2], [2], [11]] [5],%‘%]\,0(1) [E=1,H=2]

fac sum =
t4tl (17, sag) = L1OT ) = [E=1, H=2]

facsum=

NN(1418 Level(4) 5(200) )
G(1418Fac(2 709) SUM=T711 LV&)

G(7 Fac(3, 3,79) SUM= 85 ﬁ)

85Fa65 17) SUM=22 LV{Z}

G(22Fac2 1y sum=13 =LV (1) )

StopPrime(13)

NN (1422 = Level(4) v, 201, )
G(1422Fac(2, 3,3, 79)SUM=87=LVij
[4
G(87Fac(3, 29) SUM=32 :LVﬁ)
[4]

G(32Fac2 2,2,2,2) SUM=10 LV&)
(4]

G(IOFaCZ sysum=1-LV (1 )

—

[4]
StopPrime(7)

1425 =131, 151, 131, 1191y = (21 E Ry = [E=1, H=5]
1449, =31, 31, 7, (2371 — (61 By = [E= 1, H=2]
1454, =12y, (7277 = (271 By = [E=1, H=2]
1454 [[2), (72711 (97 ARy = E=1,H=3]

facsum=

‘fac sum=



1467 gum= 031, 131, 3y = L1371 By = [E=1, H=2]
1479 eum— 1131, 171, 1200y = L7 1> By = [E=1, H=2]
1484, =21, 21, 71, (537 ~ 81 By = [E= 1, H=2]
(121, 20, 17, 153y = (4T By = [E=1,H=3]
1484 =121, (21, (71, 13)) ~ 120 B = [E= 1, H=6]
1485 =131, (30, (31, (53, (1))~ 151 By = [E= 1, H=2]

1484

facsum=

_ 2 _ _ .
1491 e cum =130, 170, 17171 = [915 R Rypyy = [E=1, H=2]

_ 4 _ _ .
1491 (3], (71, (1 = BT ARy = [E=1, H=4]

facsum=

3oF 1499 L 1121, 1511 L [121, 1523 =[KK([12]) =No(2) ]
1 2 3

1500 ,cqum= 123, (31, 2517 = L1617+ Ry = [E=1, H=2]
150 ucqum=(2), (31, (2517) = (41 By = [E=1, H=4]
1500, sum =21, 31, 25177 = (21 By = [E=1, H=8]

1520

facsum=

_ 5 _ _ _
1520 e sum=113). 131, (131, 137y = (215 Ry = [E=1, H=5]

_ 5 B . .
020, (20 (20, (2. 15). 1o7) — L2 1 R Fy0) = [E=1, H=5]

_ 3 7 _ o _
1527facsum:[[3], [509]] - [8] s /557\ No(1) - [E_ 1, H—3]

_ 9 7 _ o _
1527facsum=[[3], [509]] - [2] B /557\ No(2) - [E_ 1, H—9]

1536 =157, BRy, ) = [E=4, H=2]

Jactsum=[121%, 1214 1214 121% (214 120% (214 1214 1214 1309)
Ly = 3T Ry = [E=1,H=3]
155 cqum=121, (31, (7). 377) = L7 1 By = [E= 1, H=2]
1560 cum= (121, (21, 21, (31, 151, (137) = 137> By = [E= 1, H=3]
1584 e sum= 1121, 21, 121, 121, 131 131 (117 = L5 1> By = [E=1, H=2]
1587 fcqum= 1131, (231, (2317 = 71 By = [E= 1, H=2]
1634, qum= (121, (19), (43 = [8T By = [E=1, H=2]
1634, gum= 121, (191, 1437 = 415 By = [E= 1, H=3]
1634, qum= (21, (19), (431 = (21 B3 = [E= 1, H=6]
sy = 127 By, = [E=1,H=2]

1664 cgum= 1121, (21 121 121, (21 (21, 2. (13— 131> By = [E= 1, H=3]
V672 ucsum=1121, 121, 120, (111, (1911 = [67", ARy = [E=1, H=2]
1678facsum: [[2],[839]] ~ [29 ]2, ;—%,%No(l) =[E=1,H=2]

sy = (T By = [E=1, H=2]

1540facsum: [12], 2], [5], [7

1644facsum =[12], [2], [3]

1695facsum =[[3], [5]



2
1703 cum 11131, (1317 = L1215 Ry = [E=1, H=2]
_ 5 _ _ o
00 csum=1121, 131, 131, 151, 11991 ~ (215 ARy = [E= 1, H=5]
_ 2 _ _ .

3207 17 (61,1753 (6], 1750 1~ LKK([6]) =No(20)]
P P P
1 2 3

1750fac2sum: (1212 [51% (512 512 [7)2]

p— 3 = = =
1755 (31 131, (31 (5], (131 = 131 Ay = [E=1, H=3]

facsum=

= (21 ey = [E=2, H=T]

NN ( 1758 =Leve1(2)No(300))

G ( V758 062, 3, 293) sum=208 =LV () )
[

G(298Fac(2, 149) SUM = 151 ZLVQ )
(2]

—

StopPrime(151)

NN ( 1765 = Level(2 ) No(301))
G( 1765Fac(5, 353) SUM =358 :LVﬂ )

G(358Fac(2, 179) SUM = 181 ZLVQ )

StopPrime(181)

—
—_—

_ 5 _ _ _
1824 qum=(12), (21, [2]. 12, 12, (31, [197) = [2T A yyyy = [E=1, H=5]
1836 = (18, B&y, = [E=2, H=2]



NN( 1839 = Level( )NO 300))

G(1839Fa03 613)SUM616_LVﬂj
[5]

G(616Fac(2, 2,2,7,11) SUM=24 :LVﬂ )
(5]

G(24Fac(2, 22,3 sum=9 =LV 3 j
[5]
G(9Fa0(3, 3) SUM=6

G(6Fac(2, 3) SUM=5 {1} )

StopPrime(5)
et et
18404 qum=112), 121, 121, 121, 151, 12371 ~ L6 R0y = [E= 1, H=2]

NN (1841 = Level(5) y,301y)
G(1841Fac(7 263) SUM=270 LV{ S} j

G(270Fac(2, 3,3,3,5) SUM16:LVi)
G(16Fac2 2,2,2) SUM=8 LV&)
G(gFac(Z, 2,2 sum=6 LV (3 )

G(6Fac(2, 3) SUM=5 :LV{I} )

StopPrime(5)

NN (1843 = Level(6) v, 100 )

G(1843Fac(19, 97)SUM=116=LVﬂj
[6]

G( W6ruq2, 2, 29) sum=33 =LV (5 )
(6]

G(33Fac3 11)SUM=14:LVﬂ)
[6]

G(14pac(2, 7) SUM=9=LV£)

[

G(9Fac(3, 3y sum=6 LV () )

(6]

G(6Fac(2, 3) SUM=5 :LVﬂ j

[6]

— [~

StopPrime(5)



NN (1844 =Level(6) v, 101, )
G( 1844Fac(2, 2, 461) SUM =465 _LV@ )

G(465Fac3 5, 31) sum=39 ~ LV (5 )
G(39Fac(3, 13) SUM= 16 :LVﬂ)
G(16Fac(2, 2o, 2)SUM=8=LVﬂ)
G(gFac(Z, 2,2 sum=6—LV 2 )
G(6Fac(2, 3) SUM=5 :LVﬂ )

StopPrime(5)

_ 3 _ _ .

1848 1 cum =121, 121, 120, [3]. 170, 1171 = 31 R Ryyqy = [E=1, H=3]
_ 2 _ _ .

1850 ucum=1121, 15), 131, (3711 = L7 1> FFyor) = [E= 1, H=2]

NN (1862 = Level(3) y, 300, )
G( 18621,2,7,7, 19) sum=3s =LVﬂ )

[
G(35Fa05 7) SUM= 12 LV&)

G( 12502, 2,3 sum=7=LV (1

StopPrime(7)

NN(1863 Level(3), 301))
G(1863Fac3 3,3,3, 23)SUM35_LVﬂ)

G(35Fac(5, 7y sum=12 =LV (5
G( 12Fac(2, 23y sum=7-LV (1

StopPrime(7)

P _
1872 csum=1121, 120, 20, 121, 30, 130, [13]] = [3 15 ARy = [E=1, H=3]
2
1881facsum=[[3], [3], [117, [19]] = [6] ’ ;—%%N (1) = [E= 1, H=2]

3 2% 1001 (6], 1907, [6], 1913 | — LKK([6]) =No(21)]
P P P
1 2 3



_ 5 _ _ _
1904 cum =112, 121, 120, 121, 171, (1) ~ L2175 R By = [E= 1, H=5]

1922 (120, 310, [317] [8],/%%%“) [E=1,H=2]

“fac sum=
_ 3 _ . .

1922 qum=112), (31), (317) = 14T R0 = [E=1, H=3]
_ 6 _ . .

1922 cum=1121, 1317, 317 = 1215 BBy, 5) = [E=1, H=6]

_ 2 _ _ _
1960 qum =121, 121, 123, 133, 171, 1711 = L5315 Aoy = LE=1, H=2]

NN (1965 =Level(1) y, 309, )

G(1965Fac(3, 5 131)SUM=139:LVﬁ)
[1]
StopPrime(139)

NN( 1974 = Level( 1 )No(sol))
G( 1974Fac(2, 3,7,47) SUM=59 :LV{I} )

[1]
StopPrime(59)

_ 2 _ _ _
1989 prcsum=(131, (31, (131, [17)] = [61" A Ry = [E=1, H=2]
NN = {2000} . DONE

2002 = (77, B Ry = [E=2, H=3]

fa? sum= 212 [712 [1112, [13]
_ 2 _ _ _
2015 um— (151, (13, 13177 ~ L7175 Ry = [E=1, H=2]
_ 2 _ _ _
2019 131, (6737 = (261, By | = [E=1, H=2]

facsum=
_ 2 _ _ .
2034 e qum - (120, (31, (31, [113)y ~ LTS ARy ) = [E=1, H=2]
2044

= 2 @ = _
Jacd sum=[1213, 213, [713, [73%] (624, KRy, ) = [E=3, H=2]

P e
2052, qum =121, 121, 131, 13, 131, 11911 ~ L2 1> FRyoy = [E=1, H=5]

2
2059 e gum= (1201, (1171 = [101°, By, ) = [E=1, H=2]
_ 2 _ _ _
20704 um 1121, 131, 131, 151, [231] ~ LOT5 Ry = [E=1, H=2]

— 2 g o _

2071 e sum=11197, [109]] = 127, ARy = [E=1, H=T]
207 e sum =113, 131 131, {7, 17y = 31> By = [E=1, H=3]
2100, (121, 31, 31, (31, (31, [137) = 131> ) = [E= 1, H=3]
2120cqum= (12, 21 121, 151 (537) = 81> By = [E=1, H=2]

2120 qum= (12, 121 121 (51, (33)) = (4T Ry = [E=1, H=3]

O I
21200 qum 1121, 121, 121, 151, 15311 = 1215 R Ry = [E= 1, H=6]



_ 5 B _ .
2125 e qum-= (151, (5). (51, [177) = L2 15 Aoy = [E=1, H=5]

2130, gum- 121, 13, 53, (117 = 91> By = [E= 1, H=2]
2130 e 1121, 131, (33, {117y~ 1315 BBy = [E= 1, H=4]
2042 =120, 13 130, {7, 11~ (217 Ry = [E= 1, H=5]
tacsum=113), 151, 11, 137 = (21 By, = [E=1, H=5]

2145
2145 = (18, BBy, = [E=2,H=2]

faczsum= [[3]2, [5]2, [11]2, [13]2]
_ 2 _ o _
2159 pyesum= 11177, pramyy = L1217, Ry, = [E=1, H=2]

_ 2212 P
2174 esum =121, (1087 = [3315 ARy, = [E=1,H=2]

2175 = [307, By, = [E=2, H=2]

fa sum=[[312, [5]% [5]2 [291%]
2200y = (21, 121, 121, (5. (51, (117) = (3T R ygy) = [E=1, H=3]
2205 (31, 131, (5], (7). (77 = 315 ARy ) = LE=1, H=2]

fucsum= [
2208 ,cum= 1121, 21, 21, 121 12, 131, 12371 = L61 BB = [E=1, H=2]
221 = 31, (11, o7y = 19T+ By = [E=1, H=2]
221 g g3, 1111, o7y~ 131 Ry = [E=1, H=4]
2219facsum=[[7], [317]] — [18]2’ ;%H%No(l) =[E=1,H=2]
2220csum=(12). 121, 131, 151, 3y = L7 1> Ry = [E= 1, H=2]
2264 ss3y = 171 Ry, ) = [E=1, H=2]

facsum={[[2], (21, 2], [
- 2 TP = —
2272 1y = [OF, By, = [E=1,H=2]

facsum=[[2]. [2]. [2]. [2]. [2]
2272 20, (20 120, (20 (20, (717 ~ 3T Ry = [E=1, H=4]

‘facsum=

3/)%[2281 161, 2287, 6], 2203 1~ LKK([6]) =No(22)]
P P P

1 2 3]

NN( 2285 =Level(2 )N0(400) )

G(2285Fac(5, 457) SUM=462 — L Vﬂ j
2

(2]
G(462Fac(2, 371 sum=23 =LV 1y )
(2]
StopPrime(23)

2288

i it e
facsum 1121, 12], 121, 121, (117, (137) ~ 121 Ry = [E= 1L H=5]

NN (2291 =Level(2) y,401))

G(2291Fac(29, 79) sum=108 =LV (3 )
(2]



G(logFac(Z, 2,3,3,3) SUM=13=LV&)
(2]
StopPrime(13)

_ 2 _ _ _
2352 cqum=1123, 121, 121, 120, 131, (73, (71 ~ 15T Ry = [E=1, H=2]

— (71 & —[F= _
2368 e qum =121, 121, 12, 121, 121, (23, 13711 = U711 Ry = [E=1, H=2]

_ 2 _ _ .
2385 fyesum=1131, 13], 151, [531] ~ L8175 Ry = [E=1, H=2]

_ 3 _ _ .
2385 e sum= (131, 131, 15), [537) ~ [4T> R Byo(a) = [E=1, H=3]

_ 6 _ _ .
2385 e sum= (131, 131, 15), [537] ~ 21> R Byp(z) = [E=1, H=6]

_ 2 _ _ o
2387 psesum= (7. (111, 31)) ~ L71 F ) = [E=1, H=2]

2
2395 e sum— 151, (47977 = 1221 55’% )= E=1,H=2]
2401fa62wm:[[ 2 ]—[14] %% =[E=2,H=2]
2401fac4sum:[[7]4’ i ] [98 7%, 76%]\,0(2) =[E=4,H=2]

2401

gﬂ = =
fa® sum=[7] [7]6’[7]] 686 %N =[E=6,H=2]

2401

= E — — _
facgsum:[[7]8, [7]8, [7]8’ [7]8] [4802] 5 9‘/‘\‘%]\/0(4) [E=8, H=2]

2401

= 2 m rp— _

NN (2412 = Level(5) v, 400))
G(2412Fac(2,2,3,3>67)SUM 77_LVQ)

[5]

G(77Fac(7, ll)SUM:18 {_)
5

G(18Fac2 3,3) SUM= 8~ { )
[5]

G(gFac(Z, 2,2) SUM=6 LV{_)

—
—

G(6Fac(2, 3)SUM5:LVQJ
[5]
StopPrime(5)

_ 2 _ _ _
2418 e qum 1121, 131, 1133, 3171~ L7175 Ry = [E= 1, H=2]

NN(2418 Level(5), 401))

G(2418Fac(2, 3,13,31) sum=49 ~ LV (5} j
(5]

G(49Fac(7, 7) SUM= 14 =LVﬂ )
[5]



G(14Fac(2, 7) SUM=9=LVﬁ)

G(9Fa0(3, 3y sum=6—LV (2 j

G(6Fac(2, 3) SUMSZLV&)
StopPrime(5)

2419 sum = 1411, 1591 =107, ARy, = [E=1, H=2]

NN (2433 =Level(4) v, 300) )
G(2433Fac3 811) SUM =814 LV&)

G(S Fac(2, 11, 37) SUM =50 LV&)

(SOFac(Z 5,5) SUM=12 LV@)

G(leaCZ 2,3) SUM=17 LV{I} j

StopPrime(7)

NN (2443 =Level(4) y,301))
G(2443Fac( 7,349) sum=356~ LV 4y j

G(356Fac2 2, 89) SUM=93 LV&)

(93Fac3 31) SUM=34 LV{Z}

G(34Fac2 17) SUM=19:LVﬂ

[4]

StopPrime(19)
2444 cum=1121, 2], [13), =87, ARy =E=1,H=2]
2444 qum=1121, 2], [13], = [47, ’f‘%zv =[E=1,H=3]

244 cum =112, 2, 139, a7y = 21 %\‘%No(s) =[E=1,H=6]
_ 2 _ _ _
2446 um - 1121, [12237] = 13515 A,y = [E=1, H=2]

NN(2466 Level(3),, 400))

G(2466Fac(2, 3,3, 137) SUM= 145 :LVﬁ )
(3]

G( 145Fac(5, 29) SUM= 34 =LV& j
(3]



G(34Fac(2, 17) SUM= 19 ZLVQJ
[3]
StopPrime(19)

_ 3 _ _ _
247 e sum=1131, 131, 151, 15, (117~ BT Ry = [E= 1, H=3]

NN(2476 Level(3),, 401))
G(2476Fac(2 2, 619) sum=623 ~ LV (3 )

(3]
G(623Fac7 89) SUM =96 =L {_)
3

G(96Fac(2, 22,223 sum-13 - LV 1y j
(3]
StopPrime(13)

e .
2484 cqum=1121, 121, 131, 13, 31, 12311 ~ L0 FRyoy = [E=1, H=2]

2491 - prany, 153y = L[0T By, ) = [E=1, H=2]
2492 e sum=1121, 12], 17, [ =[10]2 ARy =E=1,H=2]
2541 fcsum =131, (71, (111, =27, EESW =1,H=5]

258 sum=(12). 2. 21, 2. 3). 53]] = 8T ﬂ‘*%zvom =[E=1,H=2]

258 i sum= (121, 21, 21, 21, (31, [s37) ~ (4T Ry = [E= 1, H=3]
254 =121, 21, 21, 21 131, (53] ~ (21 B3y = [E= 1, H=6]
2547 fyesum= 1130, [3], [283]] (77, ARy = E=1,H=2]
2550 sum =121, (31, (51, [51. [171] =127, Ry, = [E=1, H=5]

25564 c5um=112], 121, [31, [3] =97, ARy = [E=1, H=2]
2556 scsum =12}, [21, [31. [3]. [71]] :[3] ARy = [E=1,H=4]
2574 e sum =121, 131, [31, [11], =27, e S =1,H=5]

NN (2602 =Level(1) y, 400, )

G(2602Fac (2. 1301) sum=1303 ~ LV 11y )
[1]
StopPrime(1303)

NN(2613 Level(1),, 401))
G(2613Fac(3, 13, 67) sum=83 ~ LV (1) )

(1]
StopPrime(83)



_ 2 _ _ _
2625 fyesum=1131, 151, 151, 151, (711~ L5 15 R o) = [E= 1, H=2]

2
2639 i sum=1171. 131, 2071 — L7155 ﬁ—%’%]vo(l) =[E=1,H=2]
_ 7 it
2640 1,0 cum = 1121, [20. [21. [21. (31, 51, [117] = L3 1> A Rnpy = [E=1, H=3]

— 1517 & —[F= _
2646 ucqum =121, (31, (31, (3, (7). (71~ L35 Fyory = [E= 1, H=2]

2664, sum= 121, (21, (21, (31, (31, 37)) = L7 1> By = [E= 1, H=2]
2696 sum= 1121, 21, 21, (337)) = L 7T Ry = [E=1, H=3]
2720 sum= 1121, 12, 21, 21, 121, 151, [177) = 21> Ry = [E=1, H=5]
271302 o[22, 312 1572 17 1372] ~ 1161 By = LE=2, H=2]
273Ofac2sum [1212 1312 1512 (712 [1312] - [4]4’ ;%I%No(z) =[E=2,H=4]

2730 qum- (1212 1312 1512 (12 prag2) ~ 21 A oy = LE =2 H=8]

w = =
2730fac4sum=[[2]4,[3]4,[5]4[]4[13] (1787, A Ryoa) = [E=4, H=2]

2734facsum [[2], [1367]] [37] —F‘% I,HZZ]
28 qum=1121, 120, 120, 17, 0. 0 = 13T %\‘%No(l) =[E=1,H=3]

- 2 g rp— _
27T 2 um =112 122 (31 131 172 (1172 (14T, A Fyo(r) = [E=2, H=2

_ 2 _ _ .
2793 fuesum= 1131, 171, 17), 197) ~ 0T R By = [E=1, H=2]

_ 2 _ _ _
28007, cum =121, (21, (21, 121, (51, 151, (71~ L5315 AR = LE=1, H=2]

- 2 3 o — _
2800, 3 cum= 11203 (2. (23, (2% (3% 15 (73]~ 1201 A ooy = LE=3.

]

2]

—r57% & T F— _
28003 wum= 123 123, 2%, 123, 157, 157 179) ~ L1 > # ovogy = [E =3, H=4]

2803 g gum= 1131, [5], [11], =[67, ARy =E=1,H=2]
28160ucqum=12). 121, (21, 121, (21, (20, (21, (20, (1))~ 13 m‘f%zvom:[E:l,H=

NN (2823 = Level(2) y, 500, )

G(2823Fac(3, 941) SUM= 944 =LV& j
(2]
G(944Fac(2, 2,2,2,59) SUM=67 :LVQ )

(2]
StopPrime(67)

NN(2826 Level(2), 501))

G(2826Fac(2, 3,3,157) sum=165 ~ LV (2 )
[2

—

G( 165Fac(3, 5, 11) SUM=19 :LV{_
2

StopPrime(19)

3]



2835fac3sum (033, 1313, 1313, 1313 1513, 1713]

— 2 rp_ -~
2855facmm [[5], [5711] [24] > /"%,%No(l) - [E— 1, H—Z]

3 DT 2 0o 16,2005 [6]. 2000 1~ [KK([61) =No(24),2 Ren]
P P P
1 2 3

2862

‘fac sum=
4P I
2862 csum - [121, (31, 13], 131, [531) ~ [41> F o) = [E= 1, H=3]

_ 6 _ _ o
2862 cum=1121, 131, 131, 131, 15311 ~ (21 ;EE%NOB) =[E=1,H=6]

_ 2 _ _ _
(120, (30, (3. (31, [53)) ~ 81 F ) = [E=1, H=2]

2874, csum =121, [31, [4791] :[22]2 ARy =E=1, H=2]
2882 qum=[[2], [11], [131]] =121, "A%No =1,H=2]
2924 qum =112, [2], [17), =871, R yo1) =1,H=2]
2924facsum [121, 121, [17], [4] %%N =[E=1,H=3]
2924 cqum=112], 121, [17], =[21°, ARz =E=1,H=6]
3 0722@{2957]3,[6],2963P,[6],2969Pr[KK [6]) =No(25),2 Ren]
1 2 3

_r [P
2938 1yccum= (120, [13]. [113]] = L 21 R Rnpy = [E=1, H=T]

NN(2958 Level(5), 500))
G(2958Fac2 3,17, 29) sum=s1 ~ LV (5 j

[
G(SlFac(s, 17)SUM:20:LV{4} )
G(zoFac(z, 2,5 sum=9 LV (3 j

G(9Fa0(3, 3y sum=-6—LV

G(6Fac(2, 3y sum=s~ LV (1

StopPrime(5)

NN (2959 = Level(5) y, 5o )
G(2959Fac (11, 269) sum=280 ~ LV (5 )

[

G(ZSOFac(Z, 2,2,57) SUM=18 :LVﬂ )
(5]

—



G( 18 ac2, 3, 3) sum=3 =LVﬁ j
G(gFac(Z, 2.2y sum=6—LV (2 )

G(6Fac(2, 3) SUM=5 :LV& )

StopPrime(5)

_ 3 _ _ _
(sp, (117 = 31 ARy, = [E=1, H=3]
=107, B#&y, = [E=1,H=3]
_ 2 _ _ _
2992ucum =112, 121, 121, (21, (11, (1))~ LO1 Ry = [E=1, H=2]

_ et e
2997 fyesum=1131, 131, 131, 131, 13711 = L7 1 Ry = [E= 1L H=2]
NN= {3000} . DONE

2970 e sum =121, [31. [31, 3],
2991facvum [[31, [997]]

3002, =121, 197, 707 = L1015 Ry = [E=1, H=2]
3007facsum [[31], [2] —F\%No =1L, H=7]
=127, —F‘%No =1, H=5]

3025 e sum= (151, 151, 117,
3033 sum = [[31,[3],[337]]=[7]’*%Nom:[ =1, H=3]
=147, # ey, = [E=1,H=2]
= 7T, By, ) = [E=1,H=2]
3060csum= (121, 121, 131, 131 15], 177) = L21 Ry = [E=1, H=5]
= [32F, ey, = [E=1,H=2]
3063 gum =131, {10217 = (4T By = [E=1, H=5]

— o710 — [ = -
3063 e qum— 1131, (10217 = 121 B3y = [E=1, H=10]
=71 BT —[F=

3043facsum= [[17], [179]]
3059facsum= [[7], 1197, [23

3063facsum [[3],[1021]]

3072fac2sum: (1212 [212 [212 [212 [212 [2]2 [2]% [21% [212 (212 [3]

=2]
30726 um= [1216, (215, (216, 1216, [216, (216, [216, [216, 215, (215, [31°] (371, KRy =LE=6,H

=2]
_ 3 _ _ .
3087 psesum= 1131, (31, (7, (71, (7)1 — 131> R Byor) = [E=1, H=3]

_ 2 _ _ o
3 fsum=1131, 1171, 16177 = (915 ARy = [E= 1, H=2]

- 4 _ _ .
3 fieum=113), 117), 16177 = 13 ”%%No(z)_[E—l H=4]
3 6cqum - (121, 123, (19), (417) = (815 F Ry = [E=1, H=2]
3116 =[4T, By, = [E=1,H=3]

facsum=[[2], [2], [19],

3116facsum [[2], [2], [19], [2] %%N =[E=1,H=6]

NN(3116 Level(3) 500))




G(3116Fac(2, 2,19, 41y sum=64 ~ LV (3 j
G(64Fac(2, 2,2,2,2,2) SUM=12 =LV& )

G( 125002, 2,3) SUM:7:LVﬂ )

StopPrime(7)

NN (3124 = Level(3) 501 )
G(3124Fac(2, 2,11, 71) SUM=86 =LVﬂ j

[
G( 86 uc(2, 43) sum=45 =LV (2 )

G(45Fac(3, 3, s sum=11 LV 1y

StopPrime(11)

_ 2 _ _ .
3125 fresum=1151, 151, 151, 151, 1571 = L35 R Rnor) = [E= 1, H=2]

3123, cam=[157% (57 1572 157 1572 ~ 0T R gy = (=2, H=3]
31255 e L1557 157 57 15%] ~ 2517 gy = LE =3, H=2]
31238 =157, 1373, 1513, 151, 1313] (51", A Fyyga) = [E=3, H=4]
312, e (57 15 574 157 574~ 1) R Fvogsy = [E=4. H=5]
31255 e 155, 575 155 575 155~ 1251 g = LE =5, H=2]
3125, 5 e (155 1575155 57 15%] ~ 2507 o) = LE =5, H=3]
3123, 5 cam=[157% 155 1555155 1579~ 0T F oy = £ =5, H=6]
3125, 6 - [158 555156 575 159] L) FFroge) = (£ =6 H=T]
3125, 3 cm=l137, 117 (57, 57 577) ~ (627> Foqroy = 1E =T, H=2]
3123, =157, 1517, 157, 57, 117) ~ (251> Ry < LE=T, H=4]
3125 =51, By 1y = [E=T, H=8]

fac7sum= [[5]7, [5]7, [5]79 [5]7, [5]7]

3258 (1515 518, 1538 151%, 1538) ~ L1200 F o) = (=8, H=3]
3125 ]=[5]9, B4 = [E=8, H=9]

facgsum: [[5]8, [5]8, [5]8a [5]8’ [5]8

3238 am= (150, 151 517, 159 1579) ~ 212305 FRors) = LE =9, =21

3230 m- 159, 151% 1517, 159, 1519) ~ 2T Kooy = (£ =9, H=3)

3125 =151, By, 17, = [E=9, H=10]

fac9sum: [[5]9, [5]9, [5]9a [5]9’ [5]9]



_ 11 _ B .
3125faclosum:[[5]10’ [5]10’ [5]10’ [5]10’ [5]]()] - [5] B 75%3%N0(18) - [E_ 10, H— 11]

NN (3139 = Level(6) y, 00, )

G(3139Fac(43, 73)SUM116=LVﬂj
[6]

G(116Fac(2, 2, 29)SUM33:LVi)
[6]

G(33Fac(3, 11) SUM= 14=LVﬁ)
[6]

G(14Fac(2, 7) SUM9=LVﬂ)
[6]

G(9Fac(3, 3)SUM6:LVﬂ)
[6]

G(6Fac(2, 3y sum=5 LV 1y j

[6]
StopPrime(5)

NN (3148 =Level(6) y, 501 )

G(3 148 202, 2, 787) sum=191 =LV (6 )

[6]
G(791Fac(7, 113) SUM=120=LV{5} )

G( 120Fac(2, 2,2,3,5) SUM=14 =LV 4) )
[

G(14Fac(2, 7) SUM9:LVﬁ)
G(gFac(3, 3)SUM=6=LV&)

G(6Fac(2, 3) SUM=5 =LVﬁ j

StopPrime(5)

_ 2 _ _ _
310 pcsum=112, 131, 131, 151, 15, 1771 =~ 31 Ry = [E= 1, H=2]

= 2 Crp— _
31502 um= (1202, (312 1312 1512 1572 (2]~ LTS Ao = =2, H=2]

_ 3 _ _ _
3168 csum=112), 123, (21, 121, 23, (31, 131, 11y = 131> By T LE=1, H=3]

_ 2 _ _ .
3170 e sum =112, 15, 3177 = L1815 Ay, q) = [E=1, H=2]
3185

_ 5 _ _ o
facsum=115]. 171, (7). 1131] ~ 1215 o) = [E=1, H=5]

3 D72 3301 1613307 (61,3313 1~ LKK([6]1) =No(26),2 Ren]
P P P

1 2 3



3264 ucsum= (121, 21, 121, 121, 121, 121, 130, 11 = 121> By = [E=1, H=5]
3283 e gum= (171, 71, 16771 = (91> RFyoqr) = [E=1, H=2]
3283 = 1171, 171 to77] ~ (31 By = [E=1, H=4]
3325 (131, 153, 171, oy = L6175 By = [E=1, H=2]

facsum=

NN (3328 = Level(1) y,500) )

G(3328Fac (2,2,2,2,2,2,2,2, 13) SUM=29 LV&)
[1]
StopPrime(29)

NN (3334 =Level(1) v, 501))

G(3334Fac(2, 1667) sum=1669 — LV {1y )
[1]
StopPrime(1669)

_ 2 _ _ _
3360facsum (121, [2], [2], [2], [2), [3], [50. [7]] [5T, ;%%No(l) =[E=1,H=2]
_ 2 _ _ o
3363 fuesum=1131, 1191, 5917 ~ (915 ARy = [E= 1, H=2]
_ 4 . _ .
3363 (31, 1197, (507) = (315 By = LE=1, H=4]

facsum=|
_ 2 _ _ _
3366 e qum~112, 131, 131, 117, (177~ LOTs R o) = [E=1, H=2]
_ 3 _ _ _
3383 (17, 190y = L6175 ARy, ) = [E=1,H=3]

facsum=

NN (3386 = Level(4) v, 400 )
G(3386Fa02 1693) SUM= 1695_LVﬂ)

G(1695Fac3 5, 113) SUM= 121 LV&)
1
(121Fac(11 11)SUM22:LVﬂ)

G(22Fac (2, 11) SUM= 13 :LVﬂ)

StopPrime(13)

NN (3387 = Level(4) v, 401 )
G(3387Fac(3, 1129) SUM= 1132 :LV{4} )

G(1132Fa622283)SUM 287 LV&)

G(287Fac(7, 41) SUM=48 =LV& j



G(48Fac(2, 2,2,2,3) SUM=11 =LVﬂ)
[4]

StopPrime(11)
3404, sum =121, 121, 1231, =[87, ARy =E=1,H=
3404, cum =121, 121, 1231, =147, ARy =E=1, H=
3404, sum=112), 2], 1231, =21, R Iyo03) =1,H=
3MO0 % csum= (121, 151, 1117, -7, R o01) =1,H=
NN(342O Level(Z)No 600))
G(3420Fac(2, 2.3,3,5 19) sum=34 ~ LV (o) )
[2]
G(34Fac2 17)SUM19=LVﬂ)
[2]
StopPrime(19)
NN(3422 Level(Z)No 601))
G(3422Fac(2, 29, 59) sum=90 ~ LV 2y )
[2]
G(%Facz 3,3,5) SUM= 13 LVﬂ)
[2]
StopPrime(13)
_ 2 _ _ _
3426facsum [[2], [3], [5711] [24] EEF?"%NO = [E— I,H—
3443 1 cum=[[11], [313]] =187, %%N =[E=1,H=

NN (3443 = Level(5) v, 500) )
G(3443Fac(11,313) sum=324~LV (5 )

G(324Fac(2, 2,3,3,3,3) sum=16 ~ LV (4 )
5

G(16Fac2 2,2,2) SUM=8 LV@)

G(SFac(Z, 2,2) SUM6:LVﬂ)

G(6Fac(2, 3) SUM=5 =LV& j

StopPrime(5)

NN (3444 = Level(5) vy 601 )

2]
3]
6]
2]

2]
2]



G(3444Fac(2, 2.3,7,41) sum=55 — LV (5 )
[

G(SSFac(S, 1y sum=16~ LV (4 )
G(16Fac(2,2,2,2)SUM8:LVﬂ)
G(gFac(Z, 2,2) SUM=6=LV@)

G(6Fac(2, 3) SUM=5 =LVﬁ j

[5]
StopPrime(5)
3459 fucsum= (131, [11531]] =347, Ry =[E=1, H=2]
3503 qum=1131], (1131 = (127, "f‘% =[E=1,H=2]

3510

= w — — _
fa sum=[[212 (312 [312 [312 [512 [137?] [15]’*%%(1) [E=2,H=2]

3528

u sum=[[212, (212 1212 [312. [312 (712, [7]2]=[2]7’ ARy, = E=2,H=T]
353 esum=1131, 1117, 1107]] :[11]2 '%’%N(l): [E=1,H=2]
3549 fucsum= 1131, 171, 1131, =67, R o01) =1,H=2]
3560 ucsum=12). 21, 21, (3], s97) = [ 107" %No(l) [E=1,H=2]
3564 ucqun= 1121, 121, 131, 131 131, 31, 171 = 137> By = [E=1, H=3]
3584 sum— (121, 20, 121, 21 (21, 121 123, 2, 123, (71] = L5 1> By = [E= 1, H=2]
3596 csum =121, 2], [29], =871, A,y = [E=1,H=2]
3596 csum=1121, 2], [29], =47, Ry = [E=1, H=3]
3596 ucsum= (12, 121, 1291, =21, —6%]\,0 =1,H=6]
3630 csum =121, 31, 51, (117, (117) = 121> By = [E= 1, H=5]
3672 csum=1121, (21, 21, (31, (3], [3], [17]] ~ 27, ﬁ%zvo(l) =[E=1,H=5]
3678 fuesum=1131, 5. 151 (7). {77) = (31 F Ry = [E= 1, H=3]
3690 2 um =122 (312 312 1512 [411212[12]3’ A1) = [E=2,H=3]
3694

_ 2 _ _ _
facsum =121, (18477 ~ L4315 Ry, = [E=1, H=2]

NN(3695 Leve1(3)N0 600))
G(3695Fac(5, 739) SUM:744_LV{ 3) )

(3]
G(744Fac(2, 2,2,3,31) SUM=40 =LV{ 2) j

(3]
G(40Fac2 2,2,5) SUM=11 — {_)
3



StopPrime(11)

NN(3699 Level(3),, 601))

G(3699Fac3 3,3, 137) SUM= 146 LVQ)
3

LV
(3]

G( 146,42, 73) sum=75 = )
G(75Fac(3, s, 5 sum=13 ~ LV (13 )

(3]
StopPrime(13)

_ 7 _ _ _
3700pcsum = (121, 171, (1097 ~ 121 R Byoy = [E= 1, H=T]

3207 3m7 161,373, (6], 3730 1~ LKK([6]) =No(30)]
P P P
1 2 3

3
3743 e um=11197, (197 = 615 E%N =[E=1,H=3]

3750 cum= 1121, 131 151 51, 151, 51 = 151 *‘%N =1,H=2]
370 sum=(12), 51, 1131, (20)) = 71> By = [E= 1, H=2]

3773 cum= 107, (7). (71, (117) ~ 12T By = [E= 1, H=5]
3780 ucsum= 121, (21, (31, 30, 131 151, 7)) = 151 Ry = [E=1, H=2]
3804 cum— 121, 121, (31, 317y ~ 181 By = [E= 1, H=2]
381 4y sum= (151, [7], [1097] =[117, ARy =E=1,H=2]
3822 sum=1121, 131, [7). [7] =27, —F‘%N =[E=1,H=5]

3890 03 um= 1128 (2%, 213, (2%, 1203, 1213, (203, 120 3]_[6] ARy = LE=3, H=3]
3872 e qum= (121, 120, [2], [21. (2], [111, [2] "f‘%zv =[E=1,H=5]
3887 fucsum= 11131, [13], [7] EeESW =1,H=2]
3920 ucqum= (2], 21, 21, 21, (51, {71, 7] = 137 ﬂ‘*%zvom =[E=1,H=3]

3955

facsum=

_ 3 _ . _
(s 7). poay = 315 Ay = [E=1, H=3]

NN (3955 =Level(5) y, 00, )
G(3955Fa05 7, 113) SUM= 125_LV{5} )

]
G( 125Fac(5, 5,5) SUM=15 =LVi j

]
G( USras, sy sum-8 =LV (3 )



G(gFac(Z, 2,2) SUM=6 ZLV@ )
[

G(6Fac(2, 3y sum=s—LV (1 j

—

[5]
StopPrime(5)

NN (3956 = Level(5) y, 701, )
G(3956Fac(2, 2,23, 43)SUM=7O=LVL})
[5]
G(70Fac(2, 5,7) SUM= 14 ZLVﬂ )
5

G(14Fac(2, 7 SUM9:LVﬂ)
[

G(gFac(3, 3)SUM=6=LV&j
[5]

G(6Fac(2, 3) SUM=5 =LVﬁ j
[5]

—_

StopPrime(5)

3959 fucsum= 1371, [107]] =[127, EFE‘I%NO =[E=1,H=2]

3971facsum:[[ 111, [19], [7] %%N =[E=1,H=2]

397 fucsum=11231, 11731 = [14] ; 5—%%1\/0(1) =[E=1,H=2]
3983 e sum=1171, [5697] — [24T, 52% =[E=1,H=2]
3990 e sum=1121, 131, [51, [7] =61, —6%1\, =1,H=2]
3993 fucsum= 1137, (117, (111, =67, Ry =1,H=2]
NN— {4000} \ DONE
4000 = 2], 21, 21, 21, 12} (5] (51 (51~ L3 1 » oy = [E= 1 H=2]

2
4005 113, 131, 15], [897) ~ [10T ARy = [E=1, H=2]

3 OF 14007 , [6], 4013, [6], 4019 = [KK([6]) =No(31)]
P P P
1 2 3

4032, qum= 121, 121, 120, 12). 21, 21, 31, (31, (7] = L5 1> By = [E=1, H=2]
4043 4 sum= 1131, [3117] [18] —F‘%No =[E=1,H=2]
4063 4 cum = 11171, (2397 =[167, —F‘%No =[E=1,H=2]

4063 csum=([17), [239]) (41" Aoy = LE=1, H=4]

8
4063facsum=[[17]’ [239]] = [2] , ’L’?A?%No(}) = [E: 1’ H=8]
—7 o B
4066facsum:[[2], []9]’ [107]] - [2] , ;—%%No(l) = [E_ 1’ H—7]



NN (4074 = Level(1) y,600))

G(4074Fac(2, 3,7,97) SUM=109 =LVﬂ )
(1]

StopPrime(109)

NN (4075 = Level(1) 501

G(4075Fac(5, 5,163 sum=173 ~ LV {1y )
]

—

StopPrime(173)

— 7 = —
4087 61, 1671y = 1215 By, = [E=1, H=T]

Sfacsum=

NN(409O Level( 2 ) No(700) )

G(4090Fac(2, 5, 409) SUM=416 _LVﬂ )
[2]

G(416Fac(2, 2,2,2, 2, 13) SUM=23 :LVﬁ)
(2]

StopPrime(23)

p— 2 = = =

‘facsum=

NN (4103 = Level(2) yy 701 )

G(4103Fac(11, 373) SUM=384 _LVﬂ )
(2]

G(384Fac2,2,2,2,2,2,2,3)SUM 17 LV{I})

(2]
StopPrime(17)

4104fac2sum (1212 1212 212 312 (312 (312 [1972] [207, ARy = [E=2, H=2]
4131facsum (131, [3],[3],[3],[31,[17]]:[2]5’ ARy = [E=1,H=5]
A136cqum= (2], (2], (21, 1), (47 ~ 8T+ By = [E=1, H=2]
= [4T, By, = [E=1,H=3]
=205 B Ry, = [E=1,H=6]

[10] Ry = [E=1,H=2]

3640 qum=112), 21, 121, [11], [47]]
364 csum—112), 121, 121, (11

4154facsum [[2], [31],

NN (4164 = Level(4) v, 500))

G(4164Fac(2, 2,3, 347) SUM= 354 _LVﬂ )
(4]



G(354Fac(2, 3,59) SUM=64 ZLVQ )
G(64Fac(2, 2,2,2,2,2) SUM= 12 =LV& )

G( 125002, 2,3) SUM:7:LVﬂ )

StopPrime(7)
_ 2 _ _ .
4165 qum= (151, (7). (71, [177) = L1 Aoy = [E=1, H=2]

NN (4179 = Level(4) y, 501 )
G(4179Fac(3, 7, 199) SUM=209_LV{_})

[4]

G(209Fac(11, 19) SUM=30 — _})
4

G(30Fac(2, 3,5) SUM=10 _LVQ )

[4]

G(IOFaCZ 5)SUM=7=LVﬂ)
[4]

StopPrime(7)
84 cum=112), 121, 121, [523]] =237, ARy = [E=1, H=2]
H99 e sum=11137, 1171, =77, ARy = E=1,H=2]
A2 qum=1131, 151, 2817 = [17] : ;%%No(l) =[E=1,H=2]
4223 sum=[[41], [103]] :[12]2 Ay, ) = E=1,H=2]
4225 e sum =151, 151, [13], = [67, %%NO =1,H=2]

e
4251facsum:[[3],[13],[109]]_[5]’/Eg%N =[E=1,H=3]

256 uequm= (121,121,121 121, 2. 171, [197] = LOT> o1y = [E=1, H=2]
272 cum=(12), (21, (21, (21 13 (s97) = (107 H oy = [E=1, H=2]
4279 i sum=[1111, [389]] = (207, —f‘% =[E=1,H=2]
P05 2 um= (1312 1512, 172 (4112] “A% SlE=2, H=2]
31600qum=112). 121, [13). 337 = 10T /‘%%No(l) =[E=1,H=2]

NN (4342 = Level(3) y,700) )
G(4342Fac(2 13, 167 sum—182 = LV (3 )

[3]
G(182Fa6(27 13) sum=22— L {_)
3

G(zzFac(z, 11) SUM=13 _LVﬁ)
[3]



StopPrime(13)

— 2 —F= -
4343 a3, (1o = 120 By, = [E=1, H=2]

facsum=

NN (4353 = Level(6) y, 300, )
G(4353Fac(3, 1451) SUM= 1454_LVﬂj
[6]

G( 1454 puc(a, 727y sum=720 =LV (5 )
(6]

G(729Fac(3, 3,3,3,3,3) SUM= 18:LV{ 4) )

o
G( 18 Fac(2, 3,3) sum=8 = _}j
6

G(SFac(Z,Z,Z)SUM6 L {_)
6]

—

G(6Fac(2, 3) SUM=5 :LVﬂ j

StopPrime(5)

NN (4355 =Level(3) y, 701, )
G(4355Fac(5, 13, 67) SUM= 85:LV{ 3} )

)
|

G( 85Fac 5,17) SUM=22 —

LV
3]

G(22Fac(2, iy sum=13 =LV 1y
(3]

StopPrime(13)

o .
4356 e qum= 1121, 121, 131, 131, (117, (17~ L2175 ARy = [E= 1, H=5]

NN (4367 = Level(6) v, 301))

G(4367Fac(11, 307) sum=408 =LV () )
(6]

G(408Fac(2, 2,2,3,17) sum=26 ~ LV (s j

[
G(26Fac (2, 13) sum=15 ~ LV 4y )

—_

G( 1S paq3, 5) sum=3 :LV{3}

G(gFac(Z, 2,2 sum=6—LV (2

G(6Fac(2, 3ysum=s - LV (1 j



StopPrime(5)
_ 5 ,g_:,
4368fa62€um [ ]2 [2]2, [2]2, [2]2’ [3]2’ [7]2 [13]2] %N E 2 H 5]
370 um=112), 151, [19], =77, ARy =E=1,H=2]

BT faesum=(131, (31, [47 [ T, %%No(1)=[E=LH=2]

BT egum— 131, 131, 1477 = 1315 B = [E=1, H=4]

_ 3 _ _ _
375 fuesum=1151, 151, 151, 151, (711~ L3> R Ror) = [E= 1, H=3]
4410

_ 3 L _
) aesum=[12], 131, (31, (5], 170, (7] = L3> R Foo(ry = [E=1, H=3]
— 2 T — —
a4l4 (121, (22077 = L4715 ARy, = [E=1, H=2]

facsum=

3
A439 1 ccum= 11237, 103y = LO1 ARy = [E=1, H=3]

3’/372[4451 , [6], 4457, [6], 4463 ]=[KK([6])=N0(32)]
P P P
1 2 3

_ P
4466 1,0 cum - 1120, 170, 1111, (201 = L7 15 A Rypy = [E=1, H=2]

NN(4466=Leve1(5) (800) )
G(4466Fac2 7,11,29) sum=49 ~ LV (5 j

G(49Fac(7, 7 sum-14=LV (4)

G( W raca, 7y sum=0 =LV (3

G(9Fa0(3, 3y sum-6~LV (3 j

G(6Fac(2, 3) SUM=5 :LV& )

StopPrime(5)

NN(4467 Level(5), 801))

G(4467Fa(33 1489) SUM= 1492_LVQ)
(5]

G(1492Fa02 2,373) SUM=377 LVQ)
[

]
(377Fac(13 29) sum=42 =L {_)
5

G(42Fac(2, 3,7) SUM=12 _LV& )
[5]

G(leac(Z, 2, 3) SUM7:LVﬂ)
[5]

—



StopPrime(7)

4496, sum= (121, 21, (21, (21, (21)) = 171 B Ryyyy = [E=1, H=2]
45000 um= (121, 21, (31, (30, (31, (51, [51) = 151 Ry = [E= 1, H=2]
144 qum=1121, 1377, 16177 [10T, Ry =[E=1, H=2]

4524 um= 121, 121, 131, (131, (20) = 71> B Ryyy = [E= 1, H=2]
4536 e um= 1121, 121, 121, 131, 3%, (3%, 131, (7] — 12 r, 52%1\/0(1) =[E=1,H=2]
4550 sesum =12, (51 (51, 71, [137) = (21 o) = [E= 1, H=5]

= (9T, By, = [E=1,H=2]
455 yesum= 3], (371, pa17) = (31 By = [E=1, H=4]
4559 ucsum= (1471, 19777 = [127, ARy = [E=1, H=2]
= (117, By, = [E=1,H=2]

4551facsum= [[3], [37], [41]]

4578facsum: [[21, [3], [7], [109]]

NN (4617 =Level(2) y, 500))
G(4617Fac(3, 3,3,3,3,19) SUM=34 :LVﬂ)
[2]
G(34Fac(2, 17y sum=19 =LV {1y )
[2]

StopPrime(19)

NN (4622 = Level(2) 501 )

G(4622Fac(2, 2311y sum-2313 = LV oy )
2

G(2313Fac(3, 3, 257) SUM =263 ZLVQ )
[2]

—_—

StopPrime(263)
4623 um- 1512 (512 312 13772) ~ 38T R o) = [E =2, H=21]
4650fac2sum=[[2]2,[3]2,[5]2,[5]2,[31]2] [32]”’%%%(1) [E=2,H=2]
4650 = [4T, By, = [E=2,H=5]

faczsum: [[2]2, [3]2, [5]2, [5]2, [31]2]

4650 = (21" By = [E=2,H=10]

fa sum= [[2]2, [3]2, [5]2, [5]2, [31]2]
_ 2 —[F = =
1, a7y~ 8T Ry, = [E=1, H=2]

) 477 = (4T By = [E=1, H=3]

4653 e qum =131, [3], [11

4653facsum: [[3], [3], [11
_ 6 _ _ _
4653 e um=113), 131, (1), [477) ~ L2 15 Ry = [E= 1, H=6]

4655 = [22F, By, = [E=2, H=2]

faczsum: [[5]2, [7]2, [7]2, [19]2]



NN (4659 = Level(9) 1))
G(4659Fac( 3, 1553) SUM=1556 ~ LV

G(1556Fa02 2, 389) SUM =393 =LV

G(393Fac(3, 131y sum= 134~ LV (7y )

—

{9}

[

]

{8}

[

]
}

G( 134Fac(2, 67) sum=69 — LV (6

—

—

5}

G(69Fac (3,23) sum=26 ~ LV
[

—

G (26p,02, 13) sum=15 =LV (4
[9]

G(ISFac (3, 5) SUM=8 —

G 8Fa022 2) SUM= 6~

—
—

G(6Fac(2 3y sum=s5 LV (1

)

]

)
)
)

)
Vo)

)
)

StopPrime(5)
4690, (121, 151, (7, 67)) = (01 FRoyyyy = [E=1, H=2]
46900 - (121, 51, (7). (677) = 131" "%,%NO(Z) [E=1,H=4]
4T0%csum =121, (21, 12 120, (21, 131, (7). (7)) *\‘%Nou) E=1,H=3]
4706, ccum =121, [13], [181]] =[147, ARy = [E=1, H=2]
4707 e sum= (31, [31, [523]] =237, —%%NO(I)=[E=1,H=2]
4738 o qum=112), 1231, 11037 = 121+ By = [E=1, H=T]
746 scsum= 121, 131, 171, (13)) ~ (5T BBy = [E= 1, H=3]
4750 scsum =2, (5] (51 (51, [197) = (61 oy = [E= 1, H=2]
4752fac3sum (0203, 1203, 1205, 1213, 1333, 303, (305, [1133] [387T, ,%’%NO(I) =[E=3,H=
4788facsum (120 120, 31, 031, (7, (19 = (61 By ) = [E= 1, H=2]
A1 e sum=1731, 1159771 = [407, ARy = [E=1, H=2]
4798 cgum= (12, 23097 = (49T By, 1) = [E=1, H=2]
4798 = 1121, 1230971 = [ 71 B0y = [E= 1, H=4]
4800,y (121, 121 12, 21, 121 12, 31, 5], 1311 = (515 F oy = [E=1, H=2]
=2]

4806facsum= [[2]. [3]. [3]. [3]. [89
4843

facsum=[[29], [167]]

= L107, Ry,
= (14T, By, = [E=1,H=

T LE

2]



NN (4856 =Level(1) y, 700, )

G(4856Fac(2’ 2,2, 607) SUM=613 _LVﬂ )
[1]
StopPrime(613)

NN(4862 Level(1 )No 701))
G(4862Fac(2, 11,13, 17) sum=43 = LV 1y )

StopPrime(43)

_ 5 _ _ .
4893 um=113), 171, 12331 = 3T ARy = [E=1, H=5]

2 e — —
4952facsum (121, (21, (21, (619]) ~ [25 1% ARy, ) = [E=1, H=2]

_ 4 _ B B
952 pesum=1121, 121, 121, 1619 ~ L2 15 /—%’%No(z) —[E=1,H=4]
4972 [[2], [2], [11], [113]] =27, —ﬁ% —1,H=7]

“fac sum =

NN (4977 = Level(5) y, 000, )
G(4977Fac(3 3,7,79) SUM= 92_LVQ)

]
G(92Fa02 2, 23)SUM27=LVﬂj

G(27Fac(3, 3,3) SUM=9 :LVﬁ )

G(gFac(3, 3)sum=6—LV (2

G(6Fac(2, 3y sum=s5~LV (1

StopPrime(5)

NN (4980 =Level(5) y, 001, )

V{})

51
G(95Fac5 19) SUM=24 — {_)
5

G(24Fac(2 2.2,3) sum=9~ LV {3 )
(5]

G(gFac(3, 3) SUM=6=LV& j
5

h

G(4980Fac2 2,3,5,83) SUM= 95~



G(6Fac(2, 3)SUM=5=LVQJ
[5]
StopPrime(5)

NN (4992 = Level(3) 500 )
G(4992Fac(2, 2,222,223 13)sum=30 LV 3y )

[3]
G(30Fac(2, 3, 5) SUM= 10 ZLV@ )
(3]
G(IOFaCZ 5) SUM="17 LV&)
[3]
StopPrime(7)

NN (4997 = Level(3) y501))
G(4997Fac(19, 263) sum=282 =LV (3 )

[3]
G(282Fac2 3,47y sum=52 LV () )

(3]

G(SzFac(Z, 2, 13)SUM17:LV&)
[3]
StopPrime(17)

_ 2 _ _ _
4998 scsum=112 ],[31,[7],[7],[17]]‘[6] —%_I%N =lE=1,H=2]

B8 =122, 1372 (2, 712 (172) "A%No [E=2,H=2]

NN = {5000} , DONE

5005 e sum =157, [7], [11], [6] R o01) =1,H=2]
SO1S g sum= 1157, 1177, 15977 = 19 'ﬁ% =[E=1,H=2]
5015facmm [[51, [171, [ [3] —1‘% =[E=1,H=4]

NN (5052 = Level(4) y, 00, )
G(soszpac(z, 2,3, 421) sum=a8 =LV (4 )

(4]

G(428Fac(z, 2,107) SUM=111 =LVﬁ)
[4]

G(lllFac(S, 37y sum=40 LV (2 )

[4]

G(40Fac(2, 2,2,5) SUM=11 :LVﬂ)
[4]
StopPrime(11)



NN (5057 = Level(4) v, 601))
G(5057Fac(13, 380) sum-402 = LV (4) )

G(402Fac2 3, 67)SUM72=LVﬂ)
[4]

G(72Fac(2, 2,2,3,3) SUM=12 :LVﬁ )
[4]

G( 125002, 2, 3) sum=7 =LVﬂ j
[4]

StopPrime(7)

5058facsum [[2], [3]. [3], [281]] [17] —IA%N =[E=1,H=2]
- 2 _ _ o
5063 [[61],[83]]_[ 2] J—%%No(l)—[E—l,H—ﬂ

facsum=
e et
5070 ucsum= 1121, 131, 131, (131, (137 =~ LO1% A Fyoy = [E=1, H=2]

3 D2 510 1615115 (6], 51191~ LKK([61) =No(35),2 Ren]
P P P

1 2 3

_ 2 _ _ _
5095 esum =115, (10197] = L3215 ARy, = [E=1, H=2]

YRS P
5095 esum =151, [1019]] = [41> R Ry = [E=1, H=5]
=21, #Fy, 5 = [E=1,H=10]

5103 = (13, 131 131, 130, 130 131, [71) = 151 By = LE= 1 H=2]
5117fac2sum (1712 11772, [43]2]2[3]7’ j—%%No(l)=[E=2,H=7]
5120, sum=(12), 121 [2) 12) (2] (2] (2] (2] (21 (21, (31) = 51> By = [E= 1, H=2]
“ 117 +%N —[E=1,H=2]
=[12],we%N0(1)=[E= LH=2]
=18, &y, = [E=1,H=2]

5095facvum [[5], [1019]]

5151facsum [[3], [17], [101]]

5183facsum [[71], [73]]

5219facsum [[17], [307]]

NN (5238 =Level(2) y, 900, )

G(5238Fac(2, 333, 97)SUM=108_LV&j
2]

G( 1087442, 2,3,3,3) sum=13 =LV (1) )
(2]

StopPrime(13)

NN (5240 =Level(2) y, 901, )



G(5240Fac(2, 2,2,5,131) SUM=142 =LVﬂ)
[2]

G( 142Fac(2, 71) SUM =173 =LV& )
[2]
StopPrime(73)

112 P
5243, cum=1170, 171, o7y = LTS By, ) = [E=1, H=2]
5244 [[21. [2], [3]. [19], =77, ARy = [E=1, H=2]

facsum=

5250 ucsum= 121, (31, (31, (31, 151, {711 = 131 *%No(l) =[E=1,H=3]

3 D72 5597 1615303 (61, 5300 1~ LKK([6]) =No(37),2 Ren]
P P P

1 2 3

-7 & [ F= _
3292 facsum=[121. [2). [31. 31, [3]. [7]. [7]] [3]%%%(1) [E=1,H=3]

_ 2 _ _ .
5295 scsum= 730, 151, 35311 = L1915 Ay = [E=1, H=2]
5308facvum [[2], [2], [1327]] [11] —’A%NO =1, H=3]

3 OF2M el ey 537 (61, 5303 | = LKK([61) =No(38),2 Ren]
P P P
1 2 3

5359facsum [[23], [233]] [16] _ﬁ%]\b =[E=1,H=2]
5359fac9um [[23]’ [233]] = [4] , '/—F\\%NO(Z) = [E= 1’ H=4]

U T
5359 tuesum= (1237, [233]] = 215 A Rpp3y = [E=1, H=8]

_ 2 _ _ .
5372 uesum=1121, 121, 1171, 07 ~ L1OT Ry ) = [E=1, H=2]

3 O F 5387 (6], 5393, [6], 5300 |~ LKK([6]) =No(40)]
P P P
1 2 3

5390

facsum=1[[2], [5], [7], [7], [11]] (2], %%No(l) [E=1,H=5]
5400facvum [[21, [2], [2], [3], [3], [31. [51. [51] [5T, /—F\*%No(l) [E=1,H=2]
5408 i sum= 1121, (21, (21, (21, 123, 113, (137 ~ L0 Aoy = [E= 1, H=2]

_ 2 _ _ .
5450 ucsum =121, 1), {5, (109 ~ LLTS Ry ) = [E=1, H=2]

NN(5455 Level(6), 400))
G(5455Fac(5, 1091) SUM= 1096 :LV{6} )

G( 1096502, 2,2, 137 sum=143 = LV (5 )
[

—
—_

[}



G(143Fac11 13) SUM=24 LV{4} )

G(24Fa02 2,2,3) SUM=9 =LV 3} j

G 9Fac3 3) SUM= 6

( [])
( )

Q

OFuc2, 3) sum=5 =LV (1

StopPrime(5)

5460

facsum=

— 5 = = =
(120, 123, 131, 15, 171, 137 ~ L2 1 R0y = [E= 1, H=5]

G ( 5464Fac(2, 2,2, 683) SUM=689 =LV 6} )

G(689Fac (13, 53) sum=66 ~ LV (5

6
G(66Fac(2, 3, 11) SUM= 16 =LVﬂ j

G( 165402,2,2,2) sum=3 =LV (3

G( 8Fac(2, 2,2)suM=6" "V {2} )

G(6Fac(2, 3) SUM=5 =LVQ j

StopPrime(5)

5474

facsum=

p— 2 = = =
[r21. (71, (17, (2371 =~ L7715 /*%’%No(l) SE=LH=2]

NN (5476 = Level(5) v, 1000) )
G(5476Fac(2, 2.37.37) sum=18 =LV 5 )
[5]
G(78Fac(2, 3, 13)SUM=18=LVﬂ)
5
G(18Fac2 3,3) SUM=38 LV&)
[5]
G(SFac(Z, 2,2) SUM6:LV&)

G(6Fac(2, 3) SUM=5 =LVQ j
[5]

—
—

StopPrime(5)

NN(5489 Level(5),, 1001))



G(5489Fac11 499) SUM=510 LVﬂ)
[

G(SIOFaCZ 3,5 17) SUM= 27=LV_})
[5]

5
(27Fac(3 3,3) SUM=9 =L {_)
5

—_

G(gFac(3, 3) SUM=6"— {_)
5
G(6Fac(2, 3) SUM:5 ﬁj
5]
StopPrime(5)
_ 2 _ _ _
5495 fucsum 15, 171, 157~ L1315 Ry = [E=1, H=2]
_ 2 _ _ o
5550 uesum=117), 1131, 1617) = (915 ARy = [E= 1, H=2]
_ 4 _ _ o
5550 iesum=171, 1131, [617) ~ 315 Ay = [E=1, H=4]

3/372[5557 ,[6], 5563, [6], 5569 ]=[KK([6])=N0(41)]
P P P
3

1 2

NN (5570 = Level(3 ), 000))
G(5570Fac(2, 5, 557) sum=s64 =~ LV (3 )

G(564Fac2 2,3, 47)SUM=54:LVﬂ)

G(54Fac(2, 3,3,3) SUM=11 ZLVQ)

StopPrime(11)

557 faesum=1131, 131 [o197] = (251 By = [E=1, H=2]
ST e sum =131, 3], [619]] =[5]4 R0 = [E=1, H=4]
3576 4 sum = [[21, (2], (2], [17], =[87, "’A%N =[E =2]
33 70fucsum=[121, (21, [21, [17]. [41]] :[4] ARy, (2): =1, H=3]
5576 sum=(121, 121, 121, [17], =27, Ry =1,H=6]

NN (5576 =Level(3) y, 001, )

G(5576Fac(2, 22,17, 41 sum=64 = LV (31 )

(3]

G(64Fac2,2,2,2,2,2)SUM 12 LV&)
(3]



G( 125002, 2,3) SUM=7=LVﬂ j
[

[t}

StopPrime(7)
_ 3 _ _ _
5600 e sum (121, [2). (21, (21, [2). [51. (). (7)) ~ (315 R Fyor) = [E=1, H=3]
5626facsum [[2], [29], [97 [2] ""‘% =[E=1,H=T7]
5628 ,csum=(121, 21 131, 17) 16731 = 9T *‘%N =1,H=2]

5628 fcun =112, 121 13, (7. 677 = 131 755'%%(2) =[E=1,H=4]
S648 = (121, 21 121 (2), (3537 = [ 191 By = [E= 1, H=2]
5650 ucsum=(12), (51, 51 [113)) = [T Fyory = [E=1, H=3]
5690 ucsum =21, (3], (569)) = (241 BBy = [E= 1, H=2]

5700, qum=1121, 121, 131, (31, {51, 11971 = L6 R o) = [E= 1, H=2]

NN (5716 = Level(1) 500 )

G(5716Fac (2.2, 1429) sum—1433 ~ LV (1y )
[

—

StopPrime(1433)

NN (5725 =Level(1) v, 501))

G ( ST25 (s, 5, 229) sum=239 — L V& )
[1]
StopPrime(239)

_ a1 o
5755 puesum =115, [11517] = L3415 ARy = [E=1, H=2]

5760 qum=1121, 121, (21, (21, (21, (20, (21, (31, (30, [57) = L3 1 Ry = [E=1, H=2]

NN (5793 = Level(7) y, 100))
G(5793Fac (3.1931) suM=1934 ~ LV (7y )

[7]

G ( 193412, 967) sum=969 =LV (6
G(969Fac(3, 17, 19) sum=39 — LV 5
G(39Fac (3, 13) sum=16 ~ LV (4 )

G( 165402, 2,2, 2) sum=3 :LVﬂ )

G(gFac(Z, 2,2) SUM=6 ZLV& )



G(6Fac(2, 3) SUM=5 =LV& j

StopPrime(5)

3 O F sso1 6], 5807 . [6], 5813 |~ LKK([6]) =No(42)]
P P

P
1 2 3
5824 e qum = ([2]. (21, (21, (21, [2). (2], (7], (137] — L2 15 Ay = [E=1, H=5]
as e
5825 scsum=115], (51, [2331] — L3 15 A By I H=5]

NN (5826 =Level(7) y, 11, )

G(5826Fac(2, 3,971) SUM=976 _LV{_} )
[

G(976Fac(2, 2,2,2,61) SUM=69 :LVQ )
[7]

)
)
{7)
o)

—

G(69Fac (3,23) SUM=26 {_
[7]
G(26Fac(2, 13) SUM=15 —

G( 15 Fac(3, 5y sum=8 =

G(SFaC(Z, 2,2) SUM= 6

G(6Fac(2, 3y sum=5 =LV (i

r—v;—*«
~
— \l
N—

StopPrime(5)

_ 3 _ _ _
5871 fesum— 1131, (191, [103]] = L35 A Fyyqy = [E=1, H=3]
2

= 2 rp— _
5880faczsum [ ]2 [2]2’ [2]2’ [3]2’ [5]2’ [7]2’ [7]2] [1 ] > 7/‘\‘%]\/0(1) [E 2, H 2]

NN (5920 = Level(2) o 1000) )
G(5920Fac(2, 2,222,537 sum=52 - LV (3 j

(2]
G(SzFac(Z, 2, 13)SUM17=LVﬁj
(2]

StopPrime(17)
P Crp—1 -
592 fucsum=117, 171, 1113, gy ~ L0175 Ry = [E=1, H=2]

NN (5930 = Level(2) v, 1001 )



0(5930Fac(2, s, 593 sum=600 =LV (2) )
]

G(600Fac(2, 2,2,3,5,5) SUM=19 ZLVQ )
[

—

—

StopPrime(19)

NN (5942 =Level(4) y, 00, )

G ( 5942 g2, 2071) sum=2973 =LV (4 )
[4]

G(2973Fac (3, 991 sum-994 = LV (3) j
[4]

G(994Fac(2, 7,71y sum-80 ~ LV 12y )

G(goFac(z, 2,2,2, 5)SUM=13=LVﬂ)
[4]

—
—

StopPrime(13)

NN(5948 Level(4 )No 701))
G(5948Fac(2, 2, 1487) SUM= 1491 _LVQ )

[4]
G(1491Fac(3, 7,71) SUM=81 {_)
4

G(81Fac3 3,3,3) SUM= 12_LVQ)
[4]

G(leac(Z, 2, 3) SUM7:LVﬂ)
[4]
StopPrime(7)

_ 2 _ _ _
5950 ucsum= 1121, 131, 131, {71, [y~ L0 ARy = [E= 1, H=2]

_ 3 _ _ .
5995 esum=([5], (117, [109]] = 31> A Rnp1y = [E=1, H=3]

NN = {6000} , DONE

6000 = (10T, By, = [E=2, H=2]

fa sum=[[212, 21 [212 [212 312 [512. [512 [3]

NN (6000 = Level(5) 1 100) )
G(6000Fac(2, 2.2,2,3.5,5,.5 sum=26 ~ LV (51 )

[5]
G(26Fac2 13)SUM15=LVﬂ)
[5]

G( U raqs, 5y sum=s =LV 3y )
[5]



G(gFac(Z, 2,2) SUM=6 ZLV@ )

G(6Fac(2, 3) SUM=5 =LVﬁ j
StopPrime(5)

_ 2 _ _ _
6006 cum =121, 31, {71, (117, [137] = 1015 A Fyyr) = [E=1, H=2]

NN (6014 = Level(5) v, 1101)

G(6014Fa02 31,97) SUM=130 LV&)
G(130Fac(2, 5, 13) SUM=20 ZLVﬂ )

G(zoFac(Z, 2, 5 sum=9 LV (3 )

G(9Fac(3, 3y sum=6~LV (3 j
G(6Fac(2, 3) SUM=5 =LV{1} j

StopPrime(5)

6018 - cum=1121, 3], [17), =97, ARy =E=1,H=2]

6018facsum=[[2] [3], [17], [3] %%N =[E=1 H=4]

6046, cuim =21, [3023]] [55] ARy =E=1,H=2]
6075 ucsum=1131, 31, (31, 131 131, 131, {311 = [T "A%N(l) =1,H=2]

6076 ucsum= (2, (21, (71, (71, 13111 ~ [7] , Ry = [E=1,H=2]

_ 2 _ _ _
6080 cum=(121, 121, (21, (21, (21, 121, [5). [197) — (67" 755'%%(1) =[E=1,H=2]

e et
6084 cum = 1121, 123, 131, 131, (137, 137~ L0175 Aoy = [E=1, H=2]

2
0095 gum~ 151, [23). [531) ~ 9T o) = [E=1, H=2]

6095facsum

_ 2 . _ .
014 e qum =112, 131, 10197 = 1321 oy = [E=1, H=2]

—ra7 it
6114 cum=1120, 31, [10197) = L4175 R Ry = [E=1, H=5]

_ 4 _ _ _
1051 230, 1537] = 315 A Rypp) = [E=1, H=4]

_ 710 o
6114 qum =120, 31 [10107) = (215 Ry 3 = [E=1, H=10]

0144 sum= 1121, [2), 121, 120, [2], (2], (20, (2], 121, (2, 121, [31) ~ 215 Ry = [E= 1, H=2]

NN (6166 =Level(3) y, 1000, )

G ( 616612, 3083) sum-3085 =LV (3) )
(3]




G(3085Fac(5, 617 SUM=6zz=LVﬁj
[

G(622Fac2 311)SUM313=LVﬂ)
]

—

—

StopPrime(313)

NN (6168 =Level(3) vy 1001 )
G(6168Fac(2, 2.2.3.257) sum-266 LV (3) )
[3]

G(266Fac2 7, 19)SUM28=LVﬂ)
[3]

G(28Fac(2, 2,7) SUM=11 :LV& )
]

—

StopPrime(11)
- 2 m r— _
VT 2 sum=(122 372 1372 172 17 1)~ L3 T F o) = [E=2, H=2]
_ 3 _ _ .
6250facsum=[[2], [5]. [5]. [5]. [5] =[3T, "%%N =[E=1,H=3]

6266, cum=[[2], [13], [241]] [16] %%N =[E=1,H=2]
_ 4 _ . _
6266 e gum—112, 131, [2417]) ~ 415 Ry = [E=1, H=4]

6266, qum =12, [13], [2417] — [2] i , APy, = [E=1, H=8]
6273 e sum =113, [3], [17), =871, R yo01) =1,H=2]
6273facsum [131, 3], [17], [4] %%N =[E=1,H=3]
6273 fycsum= (131, [3], [17], =[21°, ARz =E=1,H=6]

63004 qum= 121, 21, 31, (31, 151 151, {771 = 131 ﬁ%zvou) =[E=1,H=3]

63oofac2mm [[212 (212 [31% [312 [51% [512 [7]

2
6339 e um= 1131, [2113]] = L4015 ARy = [E=1, H=2]

— 3 _ _ .

3 D72 361 161, 6367 . [6]. 6373 }=[KK [6]) =No(46), 2 Ren]
P
3

P’ > P,
1 2

3 0722@[6367 ,[6], 6373, [6], 6379 r[KK [6]) =No(46),2 Ren]
P P P
1 2 3

0354 cqum= 1121, 131, [3], [353]] =197, ARy = [E=1, H=2]

6380 acsum=1121, (21, 151, (111, (201 = L 7] ’*%Nom: [E=1,H=2]

NN(6395 Level(6)N0 500))



G(6395Fac( 5, 1279) sum- 1284 ~ LV (6} )
]

G(1284Fac2 2,3, 107) SUM=114 LVi)
(6

—

—_

G( W23, 19) sum=2a =LV 12y
6

G(24Fac(2, 2,2,3) SUM=9 =LVA j

G(9Fac(3, 3y sum=-6~LV

G(6Fac(2, 3y sum=s~LV (1

StopPrime(5)

NN( 6406 = Level(6 )N0(501) )
G ( 640612, 3203) sum=3205 = LV {6} )

)
)

G(3205Fac(5, 641) SUM=646

G(646Fac2 17, 19) sum=38 =LV (ay
(6

[6]
G(38Fac2 19) SUM =21 =L {_)
6

G(ZlFac(3, 7 sum=10 =LV {2} )

(6]

G( 107402, 5y sUM=7 ZLVQ )
[6]
StopPrime(7)

NN (6438 = Level(1) , 900))

G(6438Fac(2, 3,29,37) SUM=171 _LVﬂ )
[1]
StopPrime(71)

NN (6440 = Level(1) y, o01)

G(6440Fac (2,2,2,5,7,23) SUM=41 LV&)
[1]
StopPrime(41)

_ 2 _ _ _
0455 esum 15, [1201]) = [36 1 Ry = [E=1, H=2]

_ 4 _ _ o
6435 (5], (1201)] = L6 Ry, 0 = [E=1, H=4]

facsum=



6468 sum = (12, 121, 131, 171, 171, [117) = L21 Ry = [E=1, H=5]
6480 esum =121, (21, [21. 21, [31. [31. [31. (31, [51] ~ L T, ARy = [E=1,H=2]
O480 5 cum=[120%, 1215, (205, 1205, (305, (305, (315, 135, 151%] ~ H0° V. ey = LE=5, H=2]
6487 cum = (131, paooy) = 81 By = [E=1, H=3]
6487 cum—1113], paoony = [ 21 B0y = [E= 1, H=9]
6495 =131, 51, 1a337) = (2115 By = [E=1, H=2]
6500 csum= (12, 121 (5] 15). (5], [137) = (21 By = [E= 1, H=5]

— 2 —F= -
6511 (171, (asayy = (207 By, = [E=1, H=2]

facsum=

NN (6534 =Level(5) 1200
G(6534Fac(2, 33,3, 11, 1) sum=33 ~ LV (5 )

5]
G(33Fac(3, 11) SUM = 14:LVﬂ)
G(14Fac(2, 7) SUM=9:LVﬁ)
G(9Fa0(3, 3)SUM=6=LV&j
G(6Fac(2, 3) SUMSZLVQJ

StopPrime(5)

6540

_ 2 _ _ _
facsum=1121, 121, 131, 151, 1007y = LTS Ry = [E= 1, H=2]

NN (6541 =Level(5) v, 1201))
G(6541Fac(31,211)SUM=242=LVﬂ)

G(242Fac(2, 11, 11) SUM=24 =LVﬂj

G(24Fac(2, 2,2,3) SUM=9 :LVﬁ )

G(gFac(3, 3y sum=6—LV (2

G(6Fac(2, 3ysum=s =LV (1

StopPrime(5)

6545fac2sum=[[5]2,[7]2,[11]2,[17]2] [22]’7@%1\10(1) [E=2,H=2]

6552 fuesum=1121, (21, [21, 31, [31. [7]. [13]]



0554 e sum =[[2], [29], [113]] =[12T, e S =1,H=2]
656lfa635um= [[3]3’ [3]3’ [3]3’ [3]3’ [3]3 [ ]3 [3]3 [ ] = [6] s 7@%}\[ = [E=3, H= 3]
6561 6]_[18] —’A%NO [E=6,H=3]

fad sum=1[319, 1318, [31%, 131, 316, [31©, [316, [3

6561

fad sum=[31% [31% [31°, 1319 1319, 131 (3% [31°) (547" A Ry5) = [E=9, H=3]

NN (6572 = Level(2) v, 1100) )

G(6572Facz 2,31, 53)SUM=88_LVﬂj
[2]

G(88Fac(2, 2.2, 11y sum=17 - LV 1y j
(2]
StopPrime(17)

NN (6575 =Level(2) v, 1101)

G(6575Fa05 5, 263) SUM= 273_LVﬁ)
[2]

G(273Fac(3, 7,13y sum=23 ~ LV 1y )
(2]
StopPrime(23)

6578 1y um=[[2], [11], [13], =77, ARy = [E=1, H=2]
0583 1 sum=[[291, [227]] [16] %%NO(1)=[E=1,H=2]
0583 sum =297, 122777 = [4 T AR o2 = [E=1, H=4]
0583 1 csum= 11291, [227]] = 27, Ry 3= [E=1, H=8]
6586 ccum— 121, (37), (307 = [21 By = [E= L H=T]
6594 csum= (21, 31, (7. (157 ~ [ 131 By = [E=1, H=2]
6604, (121, 21, (131, (1277 = L1215 By = [E=1, H=2]
6623 ;- cum= 1371, [179]] =[6]3 —%'%N =[E=1,H=3]
6693 c.sum =[5, [13], [103]] =[117T, ARy = [E=1, H=2]

6696 ]2[10],76%N0(1)=[E=2,H=3]

fa sum=[[212, [2]% [212 [3]% [312 [3]% [31]
6698facsum=[[2],[17] 197]] [6] "ﬁ‘%z\/o(l):[EzlaH:?’]

6700 ¢ cum =121, 121, [5], [5] =97, A,y = [E=1,H=2]

6700 e sum =121, 121, 151, 5] =31, R0 =1, H=4]

6716 scoum=(12), [21, (231, [731] [10] ARy, = [E=1,H=2]
6720 qum= (121, (21, (21, [21. (21 121, (31 15 (7] = (31> By = [E= 1, H=3]

6728 pscsum=1[21, 121, (21, [29], [8] ARy = E=1, H=2]



6728 csum= (21, (21, 21, (291, (201) ~ 4T By
6728 s = (121, (21, 21, (29), (201) ~ 121> Rz = [E

=1,H=3]
=1,H=6]

6746facsum=[[2], [3373]] [15] ’ /"%%Nou) =[E=1,H=3]

NN (6774 =Level(4) v, 500) )
G(6774Fac(2, 3, 1129) sum=1134 =~ LV (4 )

G(1134Fac 233337 sum=21"LV (3 )

G(leac(3, 7) SUM= 10 =LV& j
[4]

G( 105402, 5y sUM=7 :LVQ )
[4]

—
—

StopPrime(7)
6780

NN (6783 = Level(4) y, 501 )
G(6783Fac3 7,17, 19) SUM = 46:LVQ)

[4]
G(46Fac2 23) SUM=25 =L {_)
4

G(ZsFac(S, sy sum=10 — LV {2} )

[4]
G(IOFaCZ 5)SUM=7=LVQ)
[4]
StopPrime(7)
6815

6815, sum— 151, 1297, (477 = 31+ E ooz = [E

6828 =112, 121 131, s651) ~ (241 —’A%No(l) [E=1,H=

3 D2
1 2 3

— 2 254
6840 e sum =121, [21. [2). [31. [31. [5], [197] — LO] *%N
6842facvum [[2], [11], [311]] [18] '5’2%

NN (6867 =Level(3) v, 1100) )

G(6867Fac(3, 3,7, 109) SUM= 122 :LVﬁ )
(3]

_ 3 _ _ _
) aesum=[12], [21. [3]. (5], [113]] = [ 1> FFyy1y = [E=1,H=3]

facsum=[[5], [29], [47 [9] "/“%N =[E=1,H=2]
=1,H=4]

2]

6857 . [6],6863 . [6], 6860 | LKK([6]) =No(48),2 Ren]
P P P

=[E=1,H=
H=2]



G(lzzFac(Z, 61)SUM=63=LV&)
(3]

G(63Fac(3, 3,7) SUM=13 ZLV& )
[3]
StopPrime(13)

NN (6868 =Level(3) yo( 1101 )
G(6868Fac(2, 2,17, 101 sum=122 =LV (3 )

(3]
G( 122Fac(2, 61) SUM=63 — {_ )
[3]

G(63Fac(3, 3,7) SUM=13 — &
(3]
StopPrime(13)

_ 2 . _ .
6906 e qum—1121, 131, [11517) ~ 341 F oy = [E=1, H=2]

_ 2 _ _ .
6909 csum= 1131, (71, (7), (4771 ~ 815 R By = [E=1, H=2]

_ 3 _ _ .
6909 csum= 1131, (71, (7), (4771 ~ 14T R Byp(0) = [E=1, H=3]

_ 6 _ _ o
6909 csum= 1131, 171, (7], (4771 ~ 21 R Rz = [E=1, H=6]
6912

fucsum=[121, 121, [2], 121, [2], (2], (2], 120, (31, 131, [37] ~ L9 R Byony = [E= 1, H=2]
2
0928 i um 1121, 121, [21, 121, [a33y] ~ [21T ARy = [E= 1, H=2]
_ 3 _ _ _
6955 facsum =151, 1131, (1077 ~ L5 R By = [E=1, H=3]

_ 2 _ _ .
6963 esum =130, 117, [2117] = L1515 ARy = [E=1, H=2]

—

-

3 2 F (6071 161, 6977 . [6], 6083 |~ LKK([6]) =No(50)]
P P P
1 2 3
2 e
6976 fucsum=[121. (21, 121, 2. 123, (21, ooy — LV1 T oy = [E =1, H=2]
6990 =112, 131, 151, (2331) = 131> By = [E=1, H=5]
NN = {7000} . DONE
4t .
7003 e qum = [47), (149 = L1415 B Ry, ) = [E=1, H=2]

NN (7034 =Level(5) 1300, )

G(7034Fac(2, 3517) sum=3519 ~ LV (5) j
[

G(3519Fac(3, 3,17, 23) SUM= 46:LV{ {4 )

—

G(46Fac2 23)SUM=25 {_)
5



G(stac(S, 5) SUM= 10 =LV& )
[

G(IOFaCZ 5) SUM=17 LV&)
[5]

—

StopPrime(7)

7042

“facsum =

e o
(12), (7. (5037 = [8 1 R Fy) = [E=1, H=3]
7042 cum =121, 7], [503]] =27, B, o2) = [E=1,H=9]

NN (7042 = Level(5) vy 1301 )

G(7042Fac(2, 7. 503) sum=s12 =LV (5 )
5]

G(Sleac(Z, 2,2,2,2,2,2,2,2) SUM=18 ZLVﬂ )

[5]

G(18Fac2 3,3) SUM=38 LV@)
G(SFac(Z, 2,2) SUM6:LVﬂ)
G(6Fac(2, 3y sum=5~ LV 1y j

StopPrime(5)

7098fac2sum (1212 1312 [712 [13]% 13
_ 2 _ _ _
7106 (r2. i, 073, poy ~ U715 o) = [E=1, H=2]

facsum=
| = [3T, Ry, ) = [E=2, H=2]

) = [200% By = [E=2.H=2]

71281‘ac2sum= (1212 (212 [21% [312 [3]% [3]2 [3]% [11]?

NN (7132 = Level(1) v, 1000, )
G(7132Fac(2, 2, 1783) sum=1787 ~ LV (13 )

(1]
StopPrime(1787)

NN (7136 = Level(1) v, 1001 )

G(7136Fac (2,2,2,2,2,223) sum=233 ~ LV (1y j
[1]

StopPrime(233)
— 7 _ _ o
7138 e um= (121, 431, (3] = L 21 A Rppy = [E=1, H=1T]
7139 fucsum= 11117, 1111, =97, ’f‘%zv =1,H=2]
7139 e sum= [[11],[11],[59112[3]’%‘%No(z)z E=1,H=4]



e ot
TV40%csum =121, 121, 131, 131, (70, 11777 ~ L0175 R Fyy) = [E=1, H=2]
7150 esum=1121, 151, [51, [11], = (67T, ARy = E=1, H=2]

TL68 = (121, (21, 121, 2 121, 20 120, 120, 123, 21,y = L3 T By = [E=1, H=3]
7182fac2mm [[212 [312 [312 [312 [712 [19]?] (21T, AR yor) = [£=2, H=2]

NN (7183 = Level(2) v, 1200) )

G(7183Fac(11, 653) SUM = 664 _LVﬂ )
]
G(664Fac(2, 2,2, 83) sum=89 ~ LV (1 )

—

[2]
StopPrime(89)

NN (7189 = Level(2) v, 1201 )

G(7189Fac(7 13, 79) SUM= 99_LVQ)
[

]
G(99Fac3311)SUM 17 =L {_j
2

StopPrime(17)

— 3 _ _ .
7194 sum=1121, 131, 1117, 1007 = L3 1> F Ry = [E=1, H=3]

7195 e sum 51, {14307 = (3812 By = [E=1, H=2]
7232 e sum= (121, (21 (20, [21, (2], [2], [113]] =[5T, —f‘% =[E=1,H=3]
7267fac2mm (11312 [13]2 [43 ]_[3] "A%N(l) [E=2,H=T]

72761 sum=1[21, (2], [17], [107]] =27, ARy = [E=1, H=T]
7290 csum = 21, (30, (3, (3. (3. 131 (31 (31) ~ 31+ oy = [E= 1, H=2]
7296 scqum =121, 21, (21, 12) 2. 21, 121, 13 [197) = (6T 5‘3%%(1) =[E=1,H=2]
T304,csum= (12, 121 121, (1), s3] ~ 10T Ry = [E=1,H=2]

_ 2 _ _ _

T3 e gum=1121, 131, 1231, 13371 ~ [9OT5 Ry = [E= 1, H=2]
_ 4 _ _ _

7314facsum [[2], 3], [23], [ =[371, —%%N (2) = [E=1,H=4]
7319facsum=[[13] [563]] [24] "ﬁ% =[E=1,H=2]

7336facsum= (121, [2], [2], [7]. [131]] — [12] ) *‘%No(l) =[E=1,H=2]

_ 5 _ _ _
37 ucsum=1131, 131, 131, 131, (71, 1137~ 275 FFyoy = [E= 1, H=5]

NN ( 7401 = Level(6) No(600) )

G(7401Fac(3, 2467) SUM = 2470 =LVﬂ j
(6]



G(2470Fac(2, 5,13, 19) SUM=39 =LVﬁ j
(el

G(39Fac(3, 13) SUM= 16 ZLVﬂ )
[6]

G( 165402, 2,2,2) sum=3 :LVﬂ )
[6]

G(gFac(Z, 2,2) SUM=6 ZLV@ )
[6]

G(6Fac(2, 3) SUM5=LVﬁj
[6]
StopPrime(5)

NN (7408 = Level(6) v, 501, )
G(7408Fac(2, 2.2.2,463) sum-471 - LV (6) )
G(471Fac(3, 157) SUM160=LVﬂ)

[6]
G( 160Fac(2, 2,2,2,2,5) SUM=15 :LVﬂ )

G(ISFac(3,5)SUM=8=LV

—
[t}

— [
| W
[Ruity Nyi)
N—

G(gFac(Z, 22y sum=6-LV (2

G(6Fac(2, 3) SUM=5 :LV{I} )

—

N
[l
N—

StopPrime(5)

P08 um= (120, (39, 5. (1313, 197

7426 qum= 1121, (471, (707 = (21 By = [E= 1, H=T]
7438 sum =121, 371977 = 61 r, ARy =E=1,H=2]
7439 scsum =431, 1731 = 67’ ARy = [E=1, H=3]

= (871, Ay, = [E=3,H=2]

=961, By, = [E=3,H=2]

7448fac3sum= (1213, 1213, 1213, 1713, (703, [1913]

_ 5 _ _ _
456 facsum=(121. (20, [21. (21, (21, [233]] — 315 Ay = [E=1, H=5]
_ 2 _ _ _
7490 21,151, 171, poyy = LT 8 gy = LE =1, H=2]

facsum= |
7500ucsum =121, 121, 131, 151, 151, 151, 157 ~ 31> Ry = [E=1, H=3]
_ 2 L _
7514 esum =121, 1130, (177, (1)) = L7 05> R Ry = [E=1, H=2]

3 2F 7517 1617523, (6], 7520 1~ LKK([6]) =No(51)]
P P P
1 2 3



EPeT ot
7557 esum=1130, (117, [2207] = (31> A Rnp1y = [E=1, H=5]

a3 et
7560 csum=(121, 121, 121, (31, 131, 13). (5], (7)) — L3 15 Ry = [E=1, H=3]

_ 2 _ _ o
7569facsum=[[3], [3],[29], [ =[8], —%%No(l) =[E=1,H=2]
7569 fucsum= (131, [31], [29], =47, ARy =E=1,H=3]
7569 icsum=113], 3], [291, =21, EESW =1,H=6]

3 O%[7577 ,[6], 7583, [6], 7589 ]:[KK([6]):N0(52)]
P P P
1 2 3

NN (7578 = Level(5) y, 1400, )
G(7578Fac(2, 3,3, 421)SUM=429_LVQ)
5]
G(429Fac(3, 11, 13) SUM=27 :LVi)
G(27Fac3 3,3) SUM=9 LVﬁj

G(9Fa0(3, 3) SUM=6 =LV{2}

G(6Fac(2, 3) SUM=5 :LVQ )

StopPrime(5)

NN (7579 =Level(5) v 1401/ )
G(7579Fac(11, 13, 53) SUM = 77_LV{ 5 j

[5]

G(77Fac(7, ll)SUM:18 {_)
5

G(ISFaCZ 3,3) SUM= 8~ { )
[5]

G(gFac(Z, 2,2) SUM=6 LV{_ )

—
—

G(6Fac(2, 3) SUMSZLVQJ
[5]
StopPrime(5)

_ 2 _ _ .
7599 tuesum =131, (177, [1497] = L1315 R RByyqy = [E=1, H=2]

NN (7608 = Level(3) y(1200) )

G(7608Fac(2, 2.2,3,317) sum=326 ~ LV (3) j
(3]



G(326Fac(2, 163) SUM=165=LVﬂ)
[3]

G(165Fac3 s, 11)SUM19=LVﬂ)
]

—

StopPrime(19)

NN (7609 = Level(3) yo( 1201 )

G(7609Fac 1087) SuM=1094 ~ LV 3 )
[3]

G(1094Fa02 547) SUM =549 LV& j
(3]

G(549Fac(3, 3,61) SUM=67 :LVﬂ )
[3]
StopPrime(67)

7616 gum— 121, (21, 121, 21 121, 121, 171, (177 = L6 1 By =

7650fac2sum [[212 (312 [31% [512 [5]% [1712]

2
7656 facsum=(121. (21, (21, (31, (1], (297 = L7 Ry

NN(7688 Level( )NO 900))
G(7688Fa02 2,2,31,31) SUM= 68_LV } j

{4

[4]

G(68Fac(2, 2,17) SUM:21 {_ )
[4]

)
)

G(leac(3, 7) SUM=10 — {_
[4]

G(IOFaCZ 5) SUM= 77 {_
[4]

StopPrime(7)

NN (7689 = Level(4) y, 001 )
G(7689Fac(3, 11, 233) sum=247 =LV (4 )
[4]

G(247Fac( 13, 19) SUM=32 =LVﬂ j
4

G(32Fac(2, 2,2,2,2) SUM=10 :LVﬂ )
[4]
G(IOFaCZ 5)SUM=7=LVQ)
[4]

StopPrime(7)

= [19] 5 7%7%]\]0(1) =

[E=1,H=
[E=2,H=

~[E=1,H=

2]

2]
2]



7695 fcsum=13). (31, (31, (31 (51, [19] =~ L[0T > ) = [E= 1, H=2]
7700 scsum= (121, (21, 151, 151, (71 (1131 = (21 # oy = [E= 1 H=5]
7138 eum= 121, (531, (7371 = (21 By = [E= 1, H=T]
7143 = 3], 201, pso7) = [T B Ryyyy = [E= 1, H=2]

T4 csum=1 121, 31, (1201)) = 361> By, = [E=1,H=2]

— 4 _ _ _
7746 e sum =112, (31, [12017] = L01> R Rnpny = [E=1, H=4]

! e e
1772 sum=112), 121, (29, [677) ~ L1OT R Fyp ) =[E=1, H=2]
7776 e sum—[[21. [21. [21. [2]. [2]. [31. 3. [31. [3]. (311 = 215 A By = [E=1, H=2]

NN(7782 =Level(2)N (1300) )

G(7782Fac(2 3, 1297) SUM= 1302 _LVﬂ)
[2]

G( 1302Fac(2, 3,7,31) SUM=43 =LVﬂ )
[2]
StopPrime(43)

NN (7783 =Level(2) y, 1301 )
G(7783Fac(43, 181) sum=224~ LV (2

N—

[2]
G(224Fac(2, 2,2,2,2,7) SUM=17 ZLVQ )
[2]
StopPrime(17)
7791fa@sum:[[3]2,[7]2,[7]2,[53]2] (547, By, = [E=2, H=2]

_ 2 _ _ _
7798 esum =121, 131, 31, [4337] = L2115 B Ry = [E=1, H=2]

7800 e qum= 1121, 21 121, 31, 151, 5. (1371 ~ 121+ By = [E=1, H=5]
TS fyesum= 1131, 5], [5217] [23] ARy =E=1,H=2]
7820 sum =121, 121, [51. [17], =77, —/“%N =[E=1,H=2]
7848 = (121 12). 21, (31, 31, (1097 = L1117 %“%Nom =[E=1,H=2]
7830 e sum=1121, [5], [5), [157]] = (137, ARy = [E=1, H=2]
7889 R 2 ap2] 12 61, % =[E=2,H=2]
7906facsum 12 101, 1677 = (215 By = [E=1, H=T]

7930 ucsum= (12, 151, 1131, =97, %%NO =1,H=2]
7930 fucsum= (12, 151, 1131, =374 S =1,H=4]
7931 e sum=117), (111, [103]] [11] %%N =[E=1,H=2]



_ 2 7 _ . _
7934facsum:[[2], [3967]] - [63] s /53)\ No(1) = [E_ 1, H—2]

_ 2 _ o _
7939 csum=11171, a6y = (221 R0y = [E= 1, H=2]

7956 = [22F, By, = [E=2, H=2]

fa sum=[[2]2, [2]% [312 [312 [13]2 [17]%]
7964 =147, HFE,  =[E=1,H=2]
“facsum=[[2], [2], [11], [181]] » RN No(1) ’

NN (7990 = Level(1) y, 1100, )

G(7990Fac(2, 5,17,47) SUM=11 :LVQ )
[1]
StopPrime(71)

NN (7996 = Level(1) v, 1101y )

G(7996Fac(2, 2, 1999) sum=2003 =LV 11y )
(1]
StopPrime(2003)
NN = {8000} , DONE
=37, % =[E=1,H=
80007, gum 121, 121, 121, 121, 121, 121, 15], 153, [51] ~ L35 Ry = LE= 1, H=3]

2
8034ﬁzcsum=[[2], [3], [13], [103]] [IL], /—5?5'%1\,0(1) =[E=1,H=2]
8040 um =112, 121, 121, 131, 15, [677] ~ [9T R Foyor) = [E=1, H=2]

_ 4 _ _ _
8040 csum = 1121, 121, 121, 131, 151, 1671 ~ L3 1> A Fyogy = [E=1, H=4]

8064 e sum = (121, 121, 121, 121, 121, 12, 121, 131, (30, 771 = (31 F ooy = [E=1, H=3]
_ 2 _ _ _
8083 fuesum — (1591, (137)) = L1415 F ) = [E=1, H=2]

NN (8125 = Level(5) y, 1500, )
G(Slstac(S, 55513 sum=33~ LV (5 )

[5]
G(33Fac(3, 11) SUM= 14 ZLVﬂ )
[5]

G( 1402, 7) sum=9 =LV& )
(5

G(9Fac(3, 3) SUM=6:LVﬂ j

(5
G(6Fac(2, 3) SUM=5 =LV& j
[5]

i [~

—

StopPrime(5)

NN (8129 = Level(5) y, 15011 )



8136

81 6Ofacz sum= [

8178
8178

8208facsum =

8217
82

8225

G(8129Fac(11, 739) SUM =750 ZLVﬂ )
]

G(750Fac2 3,5,5,5) SUM=20 LV&)
(5]

G(ZOFac(Z, 2, 5) SUM=9 :LVﬁ )
(5]

—

G(gFac(3, 3) SUM = 6

G(6Fac(2, 3) SUM=5 " {1} j

StopPrime(5)

_ 3 _ _
facsum=[[2], [2], [2]. 131 (3], (1137 = L3 1 Ay = L E
=177, /—’%’%N o) =

2 1212 (212 212 [212 1312 [512 [17)?]

facsum=[[2], [3], [29], = 97, Ay
fucsum=[[2], [3], [29], [47]] — [3 1 B Ry

NN (8205 = Level(3) ;1300 )

G(8205Fac3 5, 547) SUM= SSS_LVﬂ)
(3]

G(SSSFac(3, 5,37) SUM=45 ZLVQ )
[3]

G(45Fac(3, 3,5) SUM=11 :LVﬁ)
(3]
StopPrime(11)

NN (8207 = Level(3) y, 13011 )
G(8207Fac(29, 283) sum=312 =LV (3 )

G(312Fac(2, 2,2,3,13) SUM=22 :LVﬂ )

G(22Fac (2, 11) SUM= 13 :LVﬂ)

StopPrime(13)

— 1612 &
120, (20, (21, (21, [3). (31, 131, [197] — L6 A ()

=1,H=2]
=1,H=4]

=[E=1,H=

_ 2 _ _ .
facsum=1131, 131, (1], [837) ~ L10 Ry = [E= 1, H=2]

— 3 _ _ _
23facsum [[3], [2741]] [14], ’Eg%No(l) =[E=1,H=3]
8225 = 8T, By 1) =

Jacsum=[[5], [5], [7], [47]]
a3 _
facsum =[5, [5], (7, [471] — L4] 5—%'%1\10(2) -LE

=2]
=3]

2]



_ 6 _ _ .
8225 fuesum=115), 151, 171, 1477) ~ (215 Ry = [E=1, H=06]

_ 3 _ _ _
8239 fucsum =117, (1, o7y ~ 5T Ay = [E= 1, H=3]

NN (8248 = Level(6) y, 700 )
G(8248Fac(2, 2,2, 1031y sum=1037 ~ LV (6 )

161
G( 1037 zoe17, 61) sum=178 ZLV@ )

[6]

G(78Fac(2, 3,13) SUM=18 =LVﬂj
[6]

G(ISFac(Z, 3, 3)SUM8:LVﬁ)
[6]

G(gFac(Z, 2,2) SUM=6=LV@)

[6

G(6Fac(2, 3) SUM=5 =LVﬁ j
[6]

[}

StopPrime(5)

_ 2 _ _ _
8253 eum =131, 131, (71, (1317) = (121 Aoy = [E=1, H=2]

NN (8259 = Level(6) 01, )
G( 8259 Fue(3, 2753) sum=2756 =LV 16 )

G(2756Fac(2, 2,13, 53) sum=70 ~ LV 5 j
(6]

G(70Fac(2, 5,7) SUM= 14 :LVﬂ )
[6]

G( 14Fac(2, 7) SUM=9 :LVﬁ )
[6
}

—_

G(9Fa0(3, 3) SUM=6 =LV& j
[6

G(6Fac(2, 3) SUM=5 :LVL )
[6]

—_

StopPrime(5)

8282, cqum =21, a1, pro1y) = 1215 By = [E= 1, H=2]
8320 ucqum= (121, (21 (20 121 121 121 12 5] {137y = L2 R Ryyy = [E =1, H=5]
8336 sesum= 121, (2, 121, 121, 5217 ~ 231 By = [E= 1, H=2]
8346 csum= (21, (31, (131, [107)) = 13T+ Ry = [E= 1, H=3]

NN( 8375 = Level(2 )No( 1400) )



G(8375Fac (5,5, 5,67) SUM=82 =LVﬂ)
(2]

Vay )
[2]

G(82Fac(2, 41y sum=43 ~ L

StopPrime(43)

NN(8376 Level(2)NO (1401) )

G(8376Fac(2, 2.2,3,349) sum=358 = LV () )
(2]

G(358Fac2 179) SUM= 181 LV&)
[2]

StopPrime(181)
8385y sum =131, 151, [131, - [87, R yo1) =1,H=2]
8385facsum [[31, [5], [13], [4] "/“% =[E=1,H=3]
8385 fucsum=[[31, [5], [13], =21 ARz =E=1,H=6]

8388 ficqum~ (121, (21, 131, 131, 2337 ~ 131 ﬁ%zvom =[E=1,H=5]
8470 ucqum= 121, (31, (71, (1), (1)) ~ 61 By = [E= 1, H=2]
8500 4 qum— 1121, (20, 151, 151, 151, (1771 = L6 1> By = [E=1, H=2]
8503 e cum =111, [773] =287, Ry =[E=1, H=2]

8303 pucsum=1131, 131, 131, 131, 131, 151, 1711 — [37, ARy, = E=1, H=3]
et Crp—1 -

8568 e qum=112], 121, 121, 131, 131, 171, 11771 ~ LOTs Ry = [E=1, H=2]
_ o1 Crp— -

8576 1ccum = [[21, 21, [21, [21. (2], [21, (21, [67]] — L9 T —%%N =[E=1,H=2]

857 ucsum= (121, 121, 121, 12) (2] 12) 12), {6711 = 131 By = [E= 1, H=4]

NN (8579 = Level(4) v 1000) )
G(8579pac(23, 373) SUM =396 _LVﬂ )
[4]
G(396Fac(2, 2,3,3, 11) SUM=21 :LV&)
[
G(leac3 7) SUM= 10 LV&)
G(IOFaCZ sysum=7-"LV (1) )

StopPrime(7)

_ e .
8580 csum =121, 121, 131, 151, 1117, (1371 ~ L0 F Ry = [E= 1, H=2]

NN(8583 Level(4 )NO 1001))



G(8583Fac(3, 2861) sum-2864 ~ LV {4y )
G(2864Fac2 22,2179 sum=187~ LV 3) j
[

G( 187 11, 17) suM=28 :LVﬂ)

G(28Fac(2, 2,7) SUM=11 ZLV&)

StopPrime(11)
86013 gum =137, [31, [3], [11], =77, ARy = [E=1, H=2]
8615 o= (151, (17231 [12] EFy, = [E=1,H=3]

8634 coum=1121, 131, 114307 = [38] ’*%Nom:[EZLHﬂ]

- 3 —TF— —
8639 (530, (163 = (61 By, = [E=1, H=3]

facsum=

NN (8674 =Level(1) yy 1500, )

G(8674Fac(z, 4337) SUM= 4339 _LVﬂ )
[1]
StopPrime(4339)

NN(8676 Level(1),, 0(1201) )
G(8676Fac(2, 2, 3,3, 241) SUM=251 :LV{I} )

[1]
StopPrime(251)

_ 2 _ _ _
8680 csum =121, 121, 121, 131, (71, (317~ L 715 A Fyoy = [E=1, H=2]

_ 2 _ _ _
8732 scsum=112), 121, 1371, 1597 ~ L101 Ky = [E=1, H=2]

NN (8732 = Level(5) yo(1600) )
G(8732Fac(2, 2,37, 59) SUM =100 ZLVQ )

(5]

G(IOOFaCZ 2,5,5) SUM=14 — )
5

%)

G(6Fac(2, 3y sum=5=—LV 1y j
[5]

G(14Fac(2, 7) SUM=9— {_

[5]
G(9Fa0(3, 3) SUM=6 =LV {2}
5

—_

StopPrime(5)



NN (8736 =Level(5) yo 1601 )
G(8736Fac(2, 2.2,2,2,3,7, 13) sum=33 ~ LV (5 )

(5]
G(33Fac3 11)SUM14=LVﬂ)
[5]

G( 14Fac(2, 7) SUM=9 :LVi )
[

G(gFac(3, 3y sum=6—LV (2

— [~

[

G(6Fac(2, 3y sum=5=—LV 1y j
[5]

—_

StopPrime(5)

2 g e _
8748 csum=1121, 121, 131, 131 131 131, 131, 131, 131) ~ L3 1s RFyoqny = [E= 1, H=2]
3
8755 fucsum=1151, 1171, 103y = L3 15 Ay = LE=1, H=3]
8764 csum =121, (21, 71, (3137 — 181 F ) = [E=1, H=2]

8771fa63mm:[[7]3,[7]3’[179]3] [23950°, Ry, = [E=3,H=2]

P I

8775 fucsum=113), 131, 131, 151, 15, (1311 ~ 121> F o) = [E= 1, H=5]
8780 . sum = [[2], [231, [191]] [6] ARy = E=1,H=3]
8795facsum=[[] 17591 [42] "ﬁ% [Ezl,sz]

8829 ,cqum (31, (31, 31, 31, (109 = 111 %“%Nom =[E=1,H=2]

NN (8829 =Level(3) y, | 400))

{

[

G(lleac(ll, 11) SUM=22 :LVﬂ)
3

G(22Fac (2, 11) SUM=13 :LV&)

StopPrime(13)

G(8830Fac(2, 5, 883) sum=890 — LV (3 )

[3]
G(890Fac(2, 5, 89) SUM =96 :LVﬂ )
[3]
G(96Fac(2, 2,2,2,2,3) SUM=13=LVﬁj
(3]

StopPrime(13)



5
8853 fesum (131, [13], [2277] = 3T A Fyyqy = [E=1, H=5]
2

8918 e gum =112, 171, 17), (7, (137] ~ LOTs Ay = [E=1, H=2]
8944 ccum= 12, 12). 21, 21, (131, 143]) = 181 Ry = [E=1, H=2]
8944 scum =112 12). 21, 2. (1, 1431 = 147 Ry = [E= 1, H=3]
8944 scum =112 12). 21, 2. (131, 1431 = 121 Ry = [E=1, H=6]

8988 i =121, 21, 131, {71, (107 ~ L1115 By = [E= 1, H=2]

NN (8993 = Level(2) y, 1500, )
G( 8993 ruc(17, 23, 23) sum-63 =LV 2 )

[2

—_—

G(63Fac(3, 3,7 sum=13 ~LV (1
(2]

StopPrime(13)

NN ={9000} , DONE
9000 cum =121, 121, 121, 131, 131, [51, [5, (5] = 315 %“%NO(” LE=1, H=3]

NN (9002 = Level(2) v, 1501))
G(9OO2FQC(2, 7, 643) SUM=652 Ly {2} )

G(652Fac(2, 2, 163) SUM=167 =LV {1} )

StopPrime(167)

NN (9012 =Level(7) 500 )
G(9012Fac(2, 2,3,751) sum=758 = LV (7} )

(7]
G(758Fac(2, 379) sum=381 ~ LV (g

G(381Fac(3, 127) SUM= 130 :LV{S}

G( 1307042, 5, 13) sum=20 =LV (4

G(ZOFac(Z, 2, 5) SUM=9 :LVﬁ )

G(9Fac(3, 3y sum=6—LV

G(6Fac(2, 3) SUM=5 =LVQ j

StopPrime(5)



9023 . cum=117), 112897] = 1367, ARy =E=1,H=2]

9023 ;e cum=1[7], [1289]] ~ (61" E%N =[E=1,H=4]
9030 > =l 122 (312 (512, (71 14312] %%N [E=2,H=2]
9045, qum= 1131, 131, (31, (31, (6711 = 9 By = [E =1, H=2]
9045 =113, 131 131 151, {71y ~ 31 o) = [E=1, H=4]
905 csum =13, 7). jas1y) = (211 By = [E= 1, H=2]

NN (9070 =Level(7) v, 01, )
G(9070Fac(2, 5,907) SUM=914 _LV{l )
[7]
G(914Fac(2, 457) SUM=459 :LVﬂ )
[7]
G(459Fac3 3,3, 17)SUM=26:LVﬂ)
[7]
G(26Fac(2, 13) SUM=15 ZLVﬂ)
7
G(ISFac(S, sysum=8 ~LV (3
G(SFac(Z, 22 sum=6 LV (3

G(6Fac(2, 3) SUM=5 =LVQ j

StopPrime(5)
a3 i
9072 e gum =121, (21, (21, (21, (31, (31, (31, (3, (77 = 315 Ry = LE=1, H=3]
9083 sum=[[31], [293]] [18] "f‘%zv =[E=1H=2]
9108

= 2 g5 T r— _
o um =122 22 372 312 (172, (2332) L ]’*%No(l) [E=2,H=2]

_ 2 _ _ .
110 csum=112), 12, 143), (537 ~ L1015 ARy = [E= 1, H=2]

_ 2 _ _ _
152 csum=(12), 123, 121, 21, 21, (20, (1), [13) — LOT5 R Ry = [E=1, H=2]

_ 3 _ _ .
183 fuesum=1131, 131, 131, 131, (137 = [3 1 FRyoy = [E=1, H=3]

NN(9189 Level(6), 800))

G(9189Fac3 3, 1021) SUM= 1027=LV{_)
(6]

G(1027Fac(13 79) SUM=92 =L _})
6

-«-4

G(92Fac(2, 2,23) SUM=27 _LV{4} j
]

—



G(27Fac(3, 3,3) SUM=9 =LVﬁ j

G(9Fa0(3, 3y sum=-6~LV

G(6Fac(2, 3y sum=s~LV (1

StopPrime(5)
_ 2 . _ .
9 e gum 1171, (131, o1y = LIS oy = [E=1, H=2]

NN (9197 = Level(6) o(801) )
G(9197Fac(17, 541)SUM=558_LVﬂ)

G(SSSFac(Z 3,3,31) SUM= 39:LV{ 5} )
[6]
G(39Fac3 13) SUM= 16 =L {_)
6
G(16Fac(2, 2,2, 2)SUM=8_LVﬂj

G(SFac(Z, 2,2) SUM=6 :LVﬂ )

G(6Fac(2, 3) SUM=5 :LVﬂ )

StopPrime(5)

_ 2 _ _ _
9215 e sum = 1151, 197, o7y ~ L1LT ) = [E= 1, H=2]

_ 2 _ _ _
9234 csum= 1121, 131, 131, 131, (3], (3], 197) — 0T R By = [E=1, H=2]

_ 5 _ _ _
9240 pcsum=(121, 121, 121, (31, 5, (7), (117) = [2Ts Aoy = LE=1, H=5]

924ofac2sum [[212 212, (212 312 (512, (72 [1112]

_ 2 _ _ _
9255 fuesum=1131, 1), [6177) ~ L2515 FFyory = [E=1, H=2]
_ 4 . _ .
9255 fuesum= 1131, 15, (6177 ~ 151 R Byp0) = [E=1, H=4]
_ 3 % . _ .

facsum=
9292facsum [12],[2], [23], [101]] [2] ""‘% =[E=1,H=T7]

9295 =227, ﬁ%wl) =[E=2,H=2]

fa sum=[[51% [1112, [13]2 [13]?]
_ 2 _ _ _
9308, qum 1121, 121, 1131, (1797 = L1415 Ry = [E= 1, H=2]

NN(9314 = Level( IO)NO(I))

G(9314Fac2 4657) SUM = 4659 LV&)
[10]



G(4659Fac(3, 1553) sum=1556 ~ LV (o) j

110}
G 1556Fac2 2, 389) SUM =393 =LV 8} j

10]
G(393Fac(3, 131) SUM= 134 {_ )
(10

G(134Fac(2, 67)SUM=69_LVQJ
[10]
G(69Fac3 23) SUM26=LVQ)
[10
Fac(2, 13) SUM15:LVQ)
[10

I—l

G(26

G(1

5Fac 3,5) SUM= 8~

(
G(8

i)

[10

Fac(2,2,2) SUM= 6~ {_j
[10

G(6Fac(2,3)SUM5 LV{_)
[10]
StopPrime(5)

= 2w o _
93242 =122 2P 12, 32, (71, 1]~ L3S T> R o) = [E=2, H=2]
_ 2 _ o _
9331 esum=1171, 1317, (4377 = [9O15 R Ry = [E= 1, H=2]

_ 4 _ _ o
933 e qum=117), 1311, 143y =[BT FRyo) = [E=1, H=4]

NN (9352 =Level(5) o 1700) )

G(9352Fac2 2,2,7, 167) SUM = 180_LV@)
[5]

G(ISOFac(Z,Z, 3,35 sum=15 ~ LV (4 })
}

{

[5]
.y
G(6Fac(2, 3) SUMS_LVﬂ)
[5]

G( USpae3, 5 sum=8 = {_
[5]
{

G( 8rac2, 2, 2) sum-6=

StopPrime(5)

NN(9353 Level(5 )No 1701))

0(9353Fac (47, 199) SUM =246 LV@)
|

G(246Fac(2, 3, 41) SUM= 46 :LVﬂ )
[5]

—



G(46Fac2 23) sum=25 ~ LV (3 )

—
—_

G(staCS 5) SUM=10 LV{Z} )

G( 0p402, 5y sUM=7=LV (13

—
—
N—

StopPrime(7)

_ 5 _ _ _
9360 csum=1121, 121, 121, 121, (31, (31, (51, (1311 ~ [215 By T LE=1, H=5]

NN(9361 =Level(1), 0(1300) )

G(9361Fac(11, 23,37 sum=711 ~ LV 11y j
(1]
StopPrime(71)

NN (9365 = Level(4) v, 1100) )

G(9365Fac (5.1873) sum—1878 = LV 14y )
[4]
G (187812, 3, 313 sum=318 =LV (3 )

(4]
G(318Fac(2 3, 53)SUM58:LVﬂ)
(4]
G(SSFac2 29) SUM =31 :LV&)
[4]

StopPrime(31)

NN(9369 Level(4),, o(1101) )
G(9369Fac(3, 3.3, 347) sum=356 ~ LV (ay )
[4]

G(356Fac(2, 2, 89) SUM=93 {_)
4
G(93Fac(3, 31) SUM=34 —

{ )
(4]

G(34Fac(2, 17) SUM=19 — { )
[4]

StopPrime(19)

NN(9372 Level(1),, o(1301) )

G(9372Fac(2, 23,11, 71y sum=89 ~ LV {1y j
[1]
StopPrime(89)



=[237, RAF ) = [E=1,H=2]
=[147, +%N =[E=1,H=2]
9384 csum= 121, (21, 2. 131, (171, 2311~ 17T %%N =[E=1,H=2]
=97, R o01) =1,H=2]
]]=[3]4,/—%’%No(z)z[E:l,qu
9420 qum= 1121, 121, 131, 131, (1571~ 11305 B Fyyry = [E=1, H=2]

_ 2 _ _ _
9434 sum - 1121, (53, 1897 ~ L1215 ) = [E=1, H=2]

9378facsum=[[2],[3] [3], [521]]
9379facsum=[[83] 113]]

9394facsum [12], [7], [11],
9394facsum [[2],[7], [11], [61

3 D2 g5 161, 9473, [6], 9479 1~ LKK([6]) =No(57),2 Ren]
P P P

1 2 3

= 2 rp— _
9516facvum [[2], [2], [3], [13], =97, ARy = [E=1, H=2]
=37, Ry = [E=1, H=4]

9516facsum=[[2], [2], [3], [13],
= [69] ) ;—%—I%NO(I) = [E= 19H=2]

= (147, BFy, (= [E=1,H=2]
= [10T, ey, = [E=2, H=3]

951 8facsum =[[2], [4759]]

9523facsum [[89], [107]]

957Ofa52sum [[2] 2 [51% (11712 [297?]

NN(9570 Level(3),, 0(1500) )

(3]

G(SOFac(Z, 5,5) SUM=12 :LV& )
[

G( 125002, 2, 3) sum=7=LV (1, j

G(9570Fac(2, 3,5, 11,20) sum=50 ~ LV 3y )

—

(3]

StopPrime(7)
2 —_— — j—
9583 e sum= 171, 1371, 13711 ~ 9T Ay = [E=1, H=2]
4
9583 fucsum =117, 1371, 13771 = 315 ARy = [E=1, H=4]

NN(9583 Level(3)N0 1501))
G(9583M7, 37, 37) SUM~=81 _LVﬂ)

G(SlFac(3, 3,3,3) SUM=12 &)

G( 125002, 2,3) SUM=7=LVﬂ j



StopPrime(7)

9595 1 csum={[51, [19], [101]]

=[], By = [E=1,H=3]
9600 e sum=[[2], [2]. [21. [21. [2]. [2]. [2]. 131, [5). [5]] — L3> R yor) = [E=1, H=3]

—[E=1,H=2]

9604 e sum =12, 121, [71, [7). [71. [7]]

)
9639 ticsum =131, 13). 131, (31, (7). [177) ~ LOTs R Fyo

NN (9640 = Level(2) v, 1600 )

G(9640Fac(2 2,2, 5,241) SUM= 252_LVQ)
(2]
G(252Fac(2 2,3,3,7) SUM=17 =L &)
(2]

StopPrime(17)

NN (9645 = Level(2) v 1601, )

G(9645Fac(3, 5 643)SUM651:LVﬂ)
(2]
G(651Fac(3, 7,31) SUM=41 =LVﬂ)
[2]

StopPrime(41)

2

9648 f1csum=(121. (21, [21. (21, (31, (3], [677] — LT F o1y = [E=1, H=2]

.
9648 f1csum=(121. (21, 21, (21, 31, [3). [677] — 131> FHyon) = [E=1, H=4]

—raat o
9655 esum—[5]. [1931]] = (4415 FFy, ) =[E=1,H=2]

9695 scsum= (5], (71, (277 = (171 By = [E= 1, H=2]
9765 e sum=1131, 131, [5). [7). [31]] (77, /—%%No(l) =[E=1,H=2]
9794 e sum=1121, 1591, [ =127, —%% =[E=1,H=2]
98LS fesum=1[5], 1131, [151]] =[13T, %%N =[E=1,H=2]
9825 e sum =131, [51. [5. [131]] ~ =[127, ARy = [E=1, H=2]

9856 ucsum=1121, 121, 121, (21, 121, [2], 121, (70, (1))~ L2 ’*%Nou):[EzlaH:S]
_ 2 _ _ _
9870 cum= 1121, 131, 151, [7), (477 ~ 1815 FFyory = [E=1, H=2]
9870 (12, 131, (51, 173, (477) ~ 41 o) = [E =1, H=3]
—[E=1,H=6]

facsum =
9870facsum [12], 131, [51, [ 7], [47]] 2[2]6 —%%NO(?))
=[257, Ry, = E=1,H=2]
=[5T, R0 = [E=1, H=4]
=97, ARy =E=1, H=2]

9872 scsum=1(121, 2], [21, (2], [617]]

9872 s csum=([21, 2], [21, (2], [617]]

9911facsum=[[ll] [17],



9911facsum:[[ 111, [17], [3] —F‘%No =1, H=4]

9933facsum 131, [71, [11], [8] %%N =[E=1,H=2]
9933 fucsum= 1131, [7], [11], =[47, ARy = E=1,H=3]
9933 s sum =131, [71, (111, =271, ARz =E=1,H=6]

NN(9970 =Level(5),
G(9970Fac2 5,997) SUM = 1004_LV{5} j

G 1004Fa02 2, 251)SUM:255:LV{4} )

G(255Fac3 5,17) SUM =25 LV@)
]
G(stac(S, 5) SUM= 10=LV{2} )

G( W0ru2, 5) sum=1=LV (1)

StopPrime(7)

NN ( 9975 = Level(5)
G ( 9975,

o(1801) )

35,57, 19) sum=30 ~ LV (5 )
]

[
G(39Fac(3 13) SUM=16 =L {_)
5

G(16Fac(2, 2,2, 2)SUM=8_LVﬂ)
[5]

G(gFac(Z, 2,2) SUM6=LVQJ
[5]

G(6Fac(2, 3) SUMSZLV&)
StopPrime(5) .

6P P
9983 esum—([67], [149)] = LOTs ARy, ) =[E=1, H=3]

=P = —[F= _
9984 e qum =112, 121, 121, 120, (21, 121, 121, 120, (3, (131) ~ 121> Ry = [E= 1, H=5]

NN ={10000} , DONE
VETIFIEF O H 1000 E TOFRI E RFLLE LI DIIE R, ()
"2021-08-05-(02:10:08 AM)"

>



SINZERI 0 0E T OERDRES

L0

RORA) S (50 LRAROREE ?

MEEOHEAR—FTAH L9




